
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(ekpZ eSx”khu tk¡p ijh{kk)
fnukad& 15-03-2020

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	gky gh esa Hkkjrh; fj”koZ cSad }kjk ^Hkkjr esa cSafdax dh 
izo`fÙk ,oa izxfr lacaèkh fjiksVZ&2018, 19* tkjh dh xbZA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ 2018-19 vkSj 2019-20 dh vc rd 
dh vofèk ds nkSjku lgdkjh cSadksa vkSj xSj&cSaafdax 
foÙkh; laLFkkvksa lfgr cSafdax {ks=k ds dk;kZUo;u 
dks izLrqr djrh gSA

	 2.	 bl fjik sV Z ds vuqlkj] cS adk s a dk ldy 
xSj&fu"iknudkjh ifjlaifÙk vuqikr flracj 2019 
esa 9.1 iQhlnh ij fLFkj jgkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 2.	18 fnlacj] 2019 dks Hkkjr vkSj vesfjdk ds fons'k 

,oa j{kk eaf=k;ksa ds chp okf'kaxVu esa ^Vw Iyl Vw okrkZ* 
laiUu gqbZA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 Hkkjr vkSj vesfjdk ds chp vk;ksftr ;g nwljh 
^Vw Iyl Vw okrkZ* gS rFkk vesfjdk esa vk;ksftr 
igyh ^Vw Iyl Vw okrkZ* gSA

	 2.	 bl okrkZ ds rgr nksuksa ns'kksa us ^baMfLVª;y 
flD;ksfjVh ,usDl* uked le>kSrs dks ea”kwjh nh 
gSA

	 3.	 ^Vw Iyl Vw okrkZ* ,d ,slh eaf=kLrjh; okrkZ gS] 
tks nks ns'kksa ds nks ea=kky;ksa ds eè; vk;ksftr 
dh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 3.	^lq'kklu lwpdkad* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bls dkfeZd] yksd f'kdk;r ,oa isa'ku ea=kky; 
ds }kjk 25 fnlacj] 2019 dks lq'kklu fnol ds 
volj ij tkjh fd;k x;kA

	 2.	 bl lwpdkad dk mís'; lHkh jkT;ksa ,oa dsanz'kkflr 
izns'kksa esa 'kklu dh fLFkfr dh rqyuk djus ds 
fy;s izkekf.kd vk¡dM+k iznku djuk gSA

	 3.	 bl lwpdkad ds vuqlkj] la?k'kkflr izns'kksa ds 
ekeys esa fnYyh izFke ,oa yík[k vafre LFkku 
ij gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3

	 1.	 Recently the 'Report on Trends and Progress of 
Banking in India 2018, 19' was released by RBI. 	
In this context, consider the following statements:

	  1. 	This report presents the implementation 
of the banking sector, including co-
operative banks and non-banking financial 
institutions, during the period of 2018-19 
and 2019-20, so far.

	  2.	 According to this report, the gross non-
performing asset ratio of banks remained 
stable at 9.1 percent in September, 2019.

		  Which of the statement(s) given above is/are 
correct?

	  (a)	 1 only	 (b)	 2 only
	  (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 2.	 On December 18, 2019, the 'Two Plus Two 
Dialogue' concluded in Washington between the 
Foreign and Defence Ministers of India and the 
US. In this context, consider the following 
statements:

	 1.	 This is the second 'Two Plus Two Dialogue' 
between India and the US; and the first 'Two 
Plus Two Dialogue' was held in the US.

	 2.	 Under this negotiation, both countries 
approved the agreement called 'Industrial 
Security Annex”

	 3.	 ‘Two Plus Two Dialogue' is a ministerial 
dialogue held between two ministries of 
two countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3

	 3. 	With reference to 'Good Governance Index', 
consider the following statements:

	  1. 	It was released by the Ministry of Personnel, 
Public Grievances and Pensions on the 
occasion of Good Governance Day on 25 
December 2019.

	 2. 	The purpose of this index is to provide 
authentic data to compare the status 
of governance in all States and Union 
Territories.

	 3.	 According to this index, in the case of 
Union Territories, Delhi is at first place and 
Ladakh is at last place.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	3 only	 (b) 	 1 and 3 only
	  (c) 	2 only	 (d)	 1, 2 and 3
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	 4.	^ny&cny fojksèkh dkuwu* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl dkuwu dks lafoèkku dh nloha vuqlwph ds 
varxZr 52osa lafoèkku la'kksèku vfèkfu;e] 1985 
}kjk var%LFkkfir fd;k x;k FkkA

	 2.	 ;fn dksbZ funZyh; lnL; fdlh Hkh lnu dk lnL; 
fuokZfpr gksrk gS vkSj pquko ds ckn og fdlh 
Hkh jktuhfrd ny dh lnL;rk xzg.k djrk gS rks 
mls lnL;rk gsrq fujgZ ekuk tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 5.	^lrr~ fodkl y{; Hkkjr lwpdkad 2019-20* ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 uhfr vk;ksx }kjk fodflr lrr~ fodkl y{; 
Hkkjr lwpdkad ds f}rh; laLdj.k dks 30 fnlacj] 
2019 dks ykWUp fd;k x;kA

	 2.	 ;g lwpdkad o"kZ 2030 rd lrr~ fodkl y{;ksa 
dks izkIr djus dh fn'kk esa Hkkjr ds lHkh jkT;ksa 
vkSj dsanz'kkflr izns'kksa }kjk dh xbZ izxfr dk 
O;kid nLrkos”k gSA

	 3.	 bldk mís'; ns'k vkSj mlds jkT;ksa rFkk jkT;ksa 
dh lkekftd] vkfFkZd ,oa i;kZoj.kh; fLFkfr ij 
lexz n`f"Vdks.k iznku djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 dsoy 2
	 6.	Hkkjrh; lafoèkku dk ^vuqPNsn&131* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lafoèkku dk vuqPNsn&131 loksZPp U;k;ky; dh 
ewy vfèkdkfjrk ls lacafèkr gSA

	 2.	 bl vuqPNsn ds rgr jkT; ljdkj vkSj dsanz 
ljdkj ds eè; mu fooknksa dh lquokbZ dh tk 
ldrh gS] ftuesa dkuwu ;k rF; dk iz'u fufgr 
gks vkSj ftu ij jkT; ;k dsanz ds dkuwuh vfèkdkj 
dk vfLrRo fuHkZj djrk gSA

	 3.	 bl vuqPNsn dh lgk;rk ls dsjy] ukxfjdrk 
la'kksèku vfèkfu;e (lh-,-,-) dks loksZPp 
U;k;ky; esa pqukSrh nsus okyk ns'k dk igyk jkT; 
cu x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 4.	 Consider the following statements in the context 
of 'Anti-Defection Law':

	  1. 	This law was embedded by the 52nd 
Constitution Amendment Act, 1985 under 
the tenth Schedule of the Constitution.

	 2. 	If an independent candidate is elected as the 
member of any House and after the election, 
if he joins any political party, deems fit for 
disqualification.

	  	Which of the statement(s) given above is/are 
correct?

	  (a)	 1 only	 (b)	 2 only
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 5. 	With reference to the 'Sustainable Development 
Goals India Index 2019-20', consider the following 
statements:

	  1.	 The second edition of the Sustainable 
Development Goals India Index, developed 
by Niti Ayog was launched on December 
30, 2019.

	 2.	 This index is a comprehensive document 
of progress made by all the states and 
union territories of India towards achieving 
sustainable development goals by the year 
2030.

	 3.	 Its objective is to provide a holistic view 
of country and its states and the social, 
economic and environmental condition of 
states.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 and 2 only	 (b)	 1, 2 and 3 
	 (c) 	3 only 	 (d) 	 2 only

	 6. 	Consider the following statements in the context 
of 'Article 131' of the Indian Constitution:

	  1. 	Article 131 of the Constitution is related 
with the original jurisdiction of the Supreme 
Court.

	 2. 	Under this Article, the disputes between 
the State Government and the Central 
Government can be heard in which the 
question of law or fact is contained and on 
which the existence of the legal authority of 
the State or the Centre depends.

	 3.	 With the help of this article, Kerala has 
become the first state in the country to 
challenge the Citizenship Amendment Act 
(CAA) in the Supreme Court.

	  	Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	 (b)	 1 and 2 only 
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3
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	 7.	jk"Vªh; tula[;k jftLVj (,u-ih-vkj-) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk mís'; ns'k esa izR;sd lkekU; fuoklh ds 
fy;s ,d O;kid igpku MkVkcsl rS;kj djuk 
gSA

	 2.	 bls ukxfjdrk vfèkfu;e] 1955 vkSj ukxfjdrk 
(ukxfjdksa dk iathdj.k vkSj jk"Vªh; igpku&i=k 
tkjh djuk) fu;e] 2003 ds izkoèkkuksa ds rgr 
LFkkuh;] mi&f”kyk] f”kyk] jkT; vkSj jk"Vªh; Lrj 
ij rS;kj fd;k tk jgk gSA

	 3.	 blds varxZr fons'kh ukxfjdksa dks 'kkfey ugha 
fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 8.	^foÙkh; fLFkjrk fjiksVZ] 2019* ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 foÙkh; fLFkjrk fjiksVZ ,d v¼Zokf"kZd izdk'ku 

gS] tks Hkkjr dh foÙkh; iz.kkyh dh fLFkjrk dk 
lexz ewY;kadu izLrqr djrh gSA

	 2.	 foÙkh; fLFkjrk fjiksVZ dk 20ok¡ vad uhfr vk;ksx 
}kjk 25 uoacj] 2019 dks tkjh fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 9.	^jk;lhuk Mk;ykWx* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 14-16 tuojh] 2020 ds eè; jk;lhuk Mk;ykWx 

ds ik¡posa laLdj.k dk vk;kstu ubZ fnYyh esa 
fd;k x;kA

	 2.	 jk;lhuk Mk;ykWx 2020 dh Fkhe& ^usfoxsfVax n 
vYiQk lsapqjh* FkhA

	 3.	 jk;lhuk Mk;ykWx dh 'kq#vkr o"kZ 2011 esa dh 
xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	10.	vkB ns'kksa ds varjkZ"Vªh; laxBu ^'ka?kkbZ lg;ksx laxBu* 

ds vkB vk'p;ks± esa 'kkfey gS@gSa&
	 1.	 LVSP;q vkWiQ ;wfuVh (Hkkjr)

	 2.	 blhd&dqy >hy (fdfxZtLrku)

	 3.	 Msfeax iSysl (phu)

	 4.	 n xksYMu fjax vkWiQ flVh”k (:l)

	 5.	 n iksbZ dkyksu dkWEIysDl (m”csfdLrku)

	 7. 	With reference to the National Population Register 
(NPR), consider the following statements:

	  1. 	Its objective is to create a comprehensive 
identity database for every common resident 
in the country.

	  2. 	It is being prepared at the local, sub-district, 
district, state and national levels under the 
provisions of the Citizenship Act, 1955 and 
the Citizenship (Registration of Citizens 
and Issue of National Identity Cards) Rules, 
2003.

	 4.	 Foreign citizens are not included under this.

		  Which of the statement(s) given above is/are 
correct?

	  (a)	 1 only	 (b)	 1 and 2 only
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3

	 8.	 Consider the following statements 	in the context 
of 'Financial Stability Report, 2019':

	 1.	 The Financial Stability Report is a semi-
annual publication, which presents an 
overall assessment of the stability of India's 
financial system.

	 2. 	The 20th edition of the Financial Stability 
Report was released by Niti Ayog on 25 
November 2019.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 9.	 With reference to 'Raisina Dialogue', consider the 
following statements:

	  1.	 The fifth edition of Raisina Dialogue was 
held in New Delhi between 14 - 16 January 
2020.

	 2.	 The theme of Raisina Dialogue 2020 was - 
'Navigating the Alpha Century'.

	  3.	 Raisina Dialogue was launched in the year 
2011.

		  Which of the statement(s) given above is/are not 
correct?

	  (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 10.	 The eight wonders of “SCO” international 
organization of eight countries' is/are included.

	  1. 	Statue of Unity (India)
	  2. 	Issyk-Kul Lake (Kyrgyzstan)
	  3. 	Daming Palace (China)
	  4. 	The Golden Ring of cities (Russia)
	  5. 	The Poi-Kalon Complex (Uzbekistan)
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	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 2 vkSj 5 	 (d)	 1, 2, 3, 4 vkSj 5
	11.	gky gh esa usiky dh ^lsds* Hkk"kk fo'o Hkj esa ppkZ 

dk fo"k; cuh jghA bl lanHkZ esa fuEufyf[kr dFkuksa esa 
ls dkSu&lk@ls lgh gS@gSa\

	 1.	 baMsatMZ ySaXost vyk;al ds vuqlkj] orZeku esa 
^lsds* Hkk"kh yksxksa dh la[;k fo'o esa ek=k 700 
gh jg xbZ gSA

	 2.	 ^lsds* Hkk"kk dks ;wusLdks dh fuf'pr #is.k 
ladVxzLr Hkk"kkvksa dh lwph esa j[kk x;k gSA

	 3.	 ^lsds* dk vFkZ ^lqugjh Hkk"kk* gS vkSj ;g Hkk"kk 
eq[;r% usiky ds Åijh eqLrkax f”kys ds ik¡p 
xk¡oksa& pqdlax] lSys] X;kdj] rkaXcs vkSj rsrkax esa 
cksyh tkrh gSA

	 	dwV%

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	12.	^okbZ&iQkbZ dkWfyax* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 okbZ&iQkbZ dkWfyax ,d ubZ rduhd gS] ftlds 
ekè;e ls ge fcuk dSfj;j usVodZ ;k eksckby 
usVodZ ds fdlh ls ckrphr dj ldrs gSaA

	 2.	 okbZ&iQkbZ dkWfyax gsrq dksbZ ,Iyhds'ku MkmuyksM 
djus dh vko';drk ugha gksrh gSA

	 3.	 gky gh esa Hkkjrh ,;jVsy vkSj fjyk;al ft;ks us 
Hkkjr esa okbZ&iQkbZ dkWfyax dh lqfoèkk izkjaHk dh 
gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	13.	^Hkkjr ou fLFkfr fjiksVZ&2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ i;kZoj.k] ou vkSj tyok;q ifjorZu 
ea=kky; ds rgr dk;Zjr~ laLFkku&Hkkjrh; ou 
losZ{k.k }kjk tkjh dh xbZ gSA

	 2.	 orZeku fjiksVZ esa ̂ ouksa ds izdkj ,oa tSo&fofoèkrk* 
uked ,d u, vè;k; dks tksM+k x;k gSA

	 3.	 fjiksVZ ds vuqlkj ef.kiqj lokZfèkd oukoj.k 
izfr'kr okyk jkT; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

		  Select the correct answer using the code given 
below:

	  (a) 	1 only	 (b)	 2, 3 and 4 only
	 (c)	 2 and 5 only	 (d)	 1, 2, 3, 4 and 5

	 11. 	Recently the ‘Seke’ language of Nepal remained 
a topic of discussion around the world. 	Which of 
the following statement(s) is/are correct in this 
context?

	 1.	 Currently, according to the Endangered 
Language Alliance, the number of 'Seke' 
speaking people has reduced to just 700 in 
the world.

	 2.	 The 'Seke' language has been placed on 
UNESCO's list of definitely endangered 
languages.

	 3.	 'Seke' means 'golden language' and this 
language is mainly spoken in five villages 
in the Upper Mustang district of Nepal - 
Chukasang, Sayle, Gyakar, Tangbe and 
Tetang.

		  Code:
	 (a)	 1, 2 and 3	 (b)	 2 only
	 (c) 	2 and 3 only	 (d) 	 3 only

	 12.	 Consider the following statements in the context 
of 'Wi-Fi calling':

	  1. 	Wi-Fi calling is a new technology, through 
which we can communicate with anyone 
without carrier network or mobile network.

	  2. 	There is no need to download any 
application for Wi-Fi calling.

	 4.	 Recently Bharti Airtel and Reliance Jio 
introduced Wi-Fi calling facility in India.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	 (b)	 1 and 2 only
	  (c)	 2 and 3 only 	 (d) 	 1, 2 and 3

	 13. 	Consider the following statements in the context 
of 'India Forest Status Report - 2019'.

	  1. 	This report has been released by the Forest 
Survey 	of India, an institute working under 
the Ministry of Environment, Forests and 
Climate Change.

	 2. 	A new chapter titled 'Types of Forests and 
Biodiversity' has been added to the current 
report.

	 3. 	According to the report, Manipur is the state 
with the highest forest cover percentage.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	3 only	 (b)	 1 and 2 only
	  (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	14.	^gfjr dsjye fe'ku* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 dsjy ljdkj }kjk jkT; dks LoPN ,oa gfjr cukus 

ds fy;s o"kZ 2016 esa ̂ gfjr dsjye fe'ku* izkjaHk 

fd;k x;k FkkA

	 2.	 ;g ,d vEcszyk fe'ku gS] tks vif'k"V izcaèku] 

tSfod [ksrh] ty lalkèku izcaèku ds ?kVdksa dks 

,dhÑr djrk gSA

	 3.	 blds rgr ljdkjh dk;kZy;ksa esa gfjr izksVksdkWy 

ykxw fd;s tkus dk izkoèkku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 2

	15.	orZeku esa fuEufyf[kr esa ls fdu Hkkjrh; Hkk"kkvksa dks 

'kkL=kh; Hkk"kk dk ntkZ iznku fd;k x;k gS\

	 1.	 laLÑr

	 2.	 rfey

	 3.	 rsyqxw

	 4.	 dUuM+

	 5.	 ey;kye

	 6.	 vksfM+;k

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 1, 3, 5 vkSj 6

	 (c)	 dsoy 2 vkSj 4 

	 (d)	 1, 2, 3, 4, 5 vkSj 6

	16.	gky gh esa ns'k ds igys phiQ vkWiQ fMisaQl LVkiQ 

(lhMh,l) ds in ij fdls fu;qDr fd;k x;k gS\

	 (a)	 tujy oh-ds- flag

	 (b)	 tujy fcfiu jkor

	 (c)	 tujy fcØe flag

 	 (d)	 tujy eukst eqdqan ujokus

	17.	^bafM;u us'kuy VªLV iQkWj vkVZ ,aM dYpjy gsfjVst* 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk Hkkjr esa lkaLÑfrd fojklr ds 

laj{k.k rFkk tkudkjh ds izlkj ds mís'; ls o"kZ 

1984 esa dh xbZ FkhA

	 2.	 bldk eq[;ky; ubZ fnYyh esa vofLFkr gSA

	 3.	 orZeku esa bldh Hkkjr esa 190 ls vfèkd 'kk[kk,¡ 

gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2	 (d)	 dsoy 1 vkSj 3

	 14. 	Consider the following statements in the context 
of Haritha Keralam Mission':

	 1.	 The 'Haritha Keralam Mission' was started 
by the Government of Kerala in the year 
2016 to make the state clean and green.

	 2.	 It is an umbrella mission which integrates 
the components of waste management, 
organic farming and water resources 
management.

	 3. 	Under this, there is a provision to implement 
green protocol in government offices.

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only	 (d)	 2 only

	 15. 	Currently, Which of the following Indian languages 
has been granted the status of classical language?

	 1. 	Sanskrit	 4. 	 Kannada
	 2. 	Tamil	 5.	 Malayalam
	 3. 	Telugu	 6.	 Odia

		  Choose the correct answer using the code given 
below:

	 (a) 	1 and 2 only
	 (b)	 1, 3, 5 and 6 only 
	 (c) 	2 and 4 only
	 (d)	 1, 2, 3, 4, 5 and 6

	 16. 	Recently who has been appointed at the post of the 
country's first Chief of Defence Staff (CDS)?

	 (a) 	General V.K.Singh 
	 (b) 	General Bipin Rawat
	 (c) 	General Bikram Singh
	 (d) 	General Manoj Mukund Narwane

	 17. 	Consider the following statements in the context 
of ‘Indian National Trust for Art and Cultural 
Heritage’:

	  1. 	It was established in the year 1984 with the 
objective of preserving cultural heritage and 
disseminating information in India.

	 2. 	Its headquarter is located in New Delhi.
	 3. 	Currently,it has more than 190 branches in 

India.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only 	 (b) 	 1, 2 and 3
	 (c) 	2 only 	 (d) 	 1 and 3 only
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	18.	^czw tutkfr* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 f=kiqjh tutkfr ds ckn ;g f=kiqjk dh nwljh lcls 

cM+h tutkfr gSA

	 2.	 ^czw tutkfr* dks f=kiqjk esa fj;kax ds uke ls Hkh 

tkuk tkrk gSA

	 3.	 16 tuojh] 2020 dks ubZ fnYyh esa Hkkjr ljdkj] 

f=kiqjk vkSj fe”kksje ljdkj rFkk cwz&fj;kax 

izfrfufèk;ksa ds chp ,d le>kSrs ij gLrk{kj fd;s 

x,A

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 2 vkSj 3
	19.	^l{ke 2020* vfHk;ku ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl vfHk;ku dk mís'; tu&dsafnzr xfrfofèk;ksa ds 

ekè;e ls b±èku laj{k.k ij è;ku dsafnzr djuk gSA

	 2.	 dsanzh; isVªksfy;e ea=kh us 16 tuojh] 2020 dks 

isVªksfy;e laj{k.k vuqlaèkku la?k ds okf"kZd tu 

dsafnzr b±èku laj{k.k esxk vfHk;ku ^l{ke 2020* 
dk 'kqHkkjaHk fd;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	

	 (d)	 u rks 1] u gh 2
	20.	^dsanzh; nÙkd xzg.k lalkèku izkfèkdj.k* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g izkfèkdj.k efgyk ,oa cky fodkl ea=kky;] 

Hkkjr ljdkj dk ,d lkafofèkd fudk; gSA

	 2.	 ;g Hkkjrh; vukFk cPpksa ds ikyu&iks"k.k] ns[kHkky 

,oa mUgsa xksn nsus ds fy;s ,d uksMy ,tsalh ds 

:i esa dk;Z djrk gSA

	 3.	 gky gh esa bl izkfèkdj.k us 15 tuojh] 2020 
dks ubZ fnYyh esa viuk 5ok¡ okf"kZd fnol lekjksg 

euk;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3

	 (d)	 1, 2 vkSj 3

	 18.	 Consider the following statements in the context 
of 'Bru tribe':

	 1. 	It is the second largest tribe in Tripura after 
the Tripuri tribe.

	 2. 	The 'Bru Tribe' is also known as Reang in 
Tripura.

	 3. 	An agreement was signed between the 
Government of India, the Government of 
Tripura and Mizoram and the representatives 
of Bru-Reang on 16 January 2020 in New 
Delhi.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 and 2 only	 (b)	 3 only 
	 (c) 	1, 2 and 3	 (d)	 2 and 3 only

	 19. 	With reference to 'Saksham 2020' campaign, 
consider the following statements:

	 1. 	The objective of this campaign is to focus 
on fuel conservation through mass-centric 
activities.

	 2. 	The Union Petroleum Minister launched 
'Saksham 2020', the annual mass-focused 
fuel conservation mega campaign of 
the Petroleum Conservation Research 
Association, on 16 January 2020.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only
	 (b)	 2 only
	 (c) 	Both 1 and 2
	 (d)	 Neither 1 Nor 2

	 20.	 Consider the following statements in the context 
of 'Central Adoption Resource Authority':

	 1. 	This authority is a statutory body of the 
Ministry of Women and Child Development, 
Government of India.

	 2. 	It serves as a nodal agency for the 
upbringing, care and adoption of Indian 
orphan children.

	  3. 	Recently this authority celebrated its 5th 
Annual Day celebrations in New Delhi on 
15 January 2020.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 and 2 only
	 (b)	 3 only
	 (c) 	1 and 3 only
	 (d)	 1, 2 and 3
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	21.	^jks”kxkj laxh ,i* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 egkjk"Vª] eè; izns'k ,oa NÙkhlx<+ jkT; dh 
ljdkjksa us la;qDr :i ls dq'ky ,oa izf'kf{kr 
mEehnokjksa dks ukSdjh [kkstus esa enn djus ds 
mís'; ls bl ,i dks ykWUp fd;kA

	 2.	 bl ,i dks jk"Vªh; lwpuk foKku dsanz dh enn 
ls fodflr fd;k x;k gSA

	 3.	 ;g ,i NÙkhlx<+ jkT; dkS'ky fodkl izkfèkdj.k 
}kjk izLrkfor 705 ikB~;Øeksa ds rgr izf'kf{kr 
7 yk[k Nk=kksa dks ykHk igq¡pk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 2
	22.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gfjr yod dks dksf'kdk dk jlksbZ?kj dgk tkrk 
gS] D;ksafd blesa izdk'k la'ys"k.k dh fØ;k }kjk 
Hkkstu dk fuekZ.k gksrk gSA

	 2.	 izksdSfj;ksfVd dksf'kdkvksa esa 'olu dk dk;Z 
ehlkslkse djrs gSa] tcfd ;wdSfj;ksfVd dksf'kdk 
esa 'olu dk dk;Z ekbVksdkWf.Mª;k djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	23.	^;Ñr* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g 'kjhj dh ,d NksVh xzafFk gS rFkk ikpu fØ;k 
esa bldk izR;{k ;ksxnku gksrk gSA

	 2.	 ;g izksVhu ds mikip; esa lfØ; :i ls Hkkx 
ysrk gS vkSj izksVhu ds fo?kVu ds i'pkr~ mRiUu 
veksfu;k dks ;wfj;k esa ifjofrZr dj nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	24.	^fifu;y xzafFk* ds lanHkZ eas fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\

	 1.	 blls Ïkfor gksus okyk gkWeksZu&esysVkWfuu o`"k.k 
rFkk vaMk'k; dh o`f¼ dks izHkkfor djrk gSA

	 2.	 ;g Fkk;jkWbM dks FkkbjkWfDlu gkWeksZu cukus ds 
fy;s mÙksftr djrk gSA

	 3.	 ;g #fèkj dh 'kdZjk dk fu;eu djrk gSA

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 21. 	With reference to 'Rojgar Sangi App' consider the 
following statements:

	  1. 	The governments of the states- Maharashtra, 
Madhya Pradesh and Chhattisgarh jointly 
launched this app with the aim of helping 
skilled and trained candidates to find jobs.

	 2. 	This app has been developed with the help 
of National Informatics Center.

	 3. 	This app will benefit 7 lakh students trained 
under 705 courses offered by Chhattisgarh 
State Skill Development Authority.

		  Which of the statement(s) given above is/are not 
correct?

	  (a) 	1 only	 (b)	 1 and 3 only 
	 (c) 	1, 2 and 3	 (d)	 2 only

	 22.	 Consider the following statements:
	 1.	 Chloroplast is called the kitchen of the cell, 

because food is produced by the action of 
photosynthesis in it.

	 2. 	In Prokaryotic cells, the mesosomes act 
as respiration, while in eukaryotic cells, 
mitochondria act as respiration.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b)	 2 only 
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 23.	 Consider the following statements in the context 
of 'Liver':

	 1.	 It is a small gland of the body and has a 
direct contribution in digestion.

	 2.	 It actively participates in the metabolism 
of proteins and converts the ammonia 
produced after dissolution of the protein to 
urea.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	1 only	 (b)	 2 only 
	 (c) 	Both 1 and 2	 (d)	 Neither1 nor 2

	 24. 	Which of the following statement(s) is/are correct 
in the context of 'Pineal Gland'?

	 1.	 The hormone 'melatonin' which secreted 
from it affects the growth of testes and 
ovaries.

	 2.	 It stimulates the thyroid to make thyroxine 
hormone.

	 3.	 It regulates blood sugar.

		  Select the correct answer using the code given 
below:

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d) 	 1, 2 and 3
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	25.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 izdk'k la'ys"k.k dh izfØ;k yky izdk'k esa 
lokZfèkd rhoz xfr ls gksrh gSA

	 2.	 gjs izdk'k esa izdk'k la'ys"k.k dh nj U;wure 
gksrh gS] D;ksafd gjs iÙks gjs izdk'k dks ijkofrZr 
dj nsrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	26.	^xxu;ku dk;ZØe* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl dk;ZØe ds rgr Hkkjr rhu lnL;ksa okys ny 
dks de&ls&de 7 fnuksa ds fy;s varfj{k esa 
HkstsxkA

	 2.	 bl fe'ku dh liQyrk ds ckn Hkkjr ekuo dks 
varfj{k esa Hkstus okyk nqfu;k dk pkSFkk ns'k gksxkA

	 3.	 xxu;ku dks ykWUp djus ds fy;s th-,l-,y-oh- 
,e- ds III ykWUp Oghdy dk mi;ksx fd;k 
tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	27.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 iQy		 [kkus ;ksX; Hkkx

	 1.	 lsc	 %	 Hkwz.kiks"k

	 2.	 ukfj;y	 %	 Hkwz.kiks"k

	 3.	 vke	 %	 iq"iklu

	 4.	 uk'kikrh	 %	 iq"iklu

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 4

	 (c)	 dsoy 1, 2 vkSj 3	 (d)	 1, 2, 3 vkSj 4
	28.	fuEufyf[kr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 	 gkWeksZUl		  dk;Z

	 1.	 vkWfDlu	 %	 ikSèkksa dh òf¼ dks fu;af=kr 	
	 	 djus okyk gkWeksZu

	 2.	 ftCcsjfyu	 %	 ikSèkksa dh yackbZ esa òf¼ ds 	
	 	 fy;s mÙkjnk;h

	 3.	 ,fFkyhu	 %	 iQyksa dks idkus esa lgk;d

	 	dwV%

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3

	 25.	 Consider the following statements :
	 1. 	The process of photosynthesis occurs at the 

fastest speed in red light.
	 2. 	The rate of photosynthesis in green light is 

minimal, because green leaves reflect green 
light.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 26. 	With reference to the 'Gaganyaan Mission' 
consider the following statements:

	 1. 	Under this program, India will send a three-
member team to space for at least 7 days.

	 2.	 After the success of this mission, India will 
be the fourth country in the world to send 
human to space.

	  3. 	GSLV.M. K. III launch vehicle will be used 
to launch Gaganyaan.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b)	 1 and 2 only
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3

	 27. 	Consider the following pairs:
		  Fruit		  Edible portion
	 1. 	Apple	 : 	 Endosperm
	 2. 	Coconut	 :	 Endosperm
	 3. 	Mango	 : 	 Thalamus
	 4. 	Pear	 :	 Thalamus

		  Which of the pair(s) given above is/are correctly 
matched?

	 (a) 	1 only	 (b)	 2 and 4 only
	 (c) 	1, 2 and 3 only	 (d)	 1, 2, 3 and 4

	 28. 	Which of the following pair(s) is/are correctly 
matched?

	 	 Hormones		  Function
	 1. 	Auxin	 :	 hormone that controls plant 	

		  growth
	 2.	 Gibberellin 	 : 	responsible for increasing 	

		  the length of plants
	 3. 	Ethylene	 :	 helpful in ripening of 	

		  fruits

		  Code:
	 (a) 	1, 2 and 3	 (b)	 1 only
	  (c)	 2 and 3 only	 (d)	 3 only
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	29.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 #fèkj ifjlapj.k dh [kkst fofy;e gkosZ }kjk dh 

xbZ FkhA

	 2.	 gheksXyksfcu uked yky o.kZd ds dkj.k #fèkj 
dk jax yky gksrk gSA

	 3.	 gheksXyksfcu isQiQM+ksa ls vkWDlhtu dks vU; vaxksa 
rFkk mQrdksa rd igq¡pkus dk dk;Z djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	30.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 jksx		  dkjd

	 1.	 Vsªdksek	 &	 fo"kk.kq

	 2.	 Vk;iQkWbM	 &	 lkYeksusyk VkbiQh

	 3.	 Iysx	 &	 ik'pqjsyk isfLVl

	 4.	 fliQfyl	 &	 VSªiksusek iSfyMe

	 	mi;qZDr ;qXeksa eas ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 4	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1, 2 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	31.	^oYMZ fMftVy dkWfEifVfVo jSafdax* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa baVjus'kuy baLVhV~;wV iQkWj eSustesaV 

MsoyiesaV }kjk tkjh dh xbZ oYMZ fMftVy 
dkWfEifVfVo jSafdax esa Hkkjr dks 44ok¡ LFkku izkIr 
gqvk gSA

	 2.	 bl jSafdax dh 'kq#vkr o"kZ 2015 esa dh xbZ FkhA

	 3.	 bl jSafdax esa eq[; :i ls rhu izeq[k dkjdksa& 
Kku] izkS|ksfxdh vkSj Hkfo"; dh rS;kjh dk 
ewY;kadu fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	32.	^dkWi&25* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 dkWi&25 lEesyu dk vk;kstu 10 fnlacj] 2019 
dks Lisu ds eSfMªM esa fd;k x;kA

	 2.	 bl lEesyu esa Hkkjr dh rjiQ ls tyok;q foÙk 
ls tqM+s dkcZu dkjksckj dk eqn~nk j[kk x;kA

	 3.	Hkkjr us dkcZu mRltZu esa ldy ?kjsyw mRikn ds 
21 izfr'kr dh deh dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 29.	 Consider the following statements:
	  1.	 Blood circulation was discovered by 

William Harvey.
	 2. 	The colour of blood is red due to red 

pigment called hemoglobin.
	 3. 	Hemoglobin works by transporting oxygen 

from the lungs to other organs and tissues.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	  (c) 	2 and 3 only	 (d)	 1, 2 and 3

	 30. 	Consider the following pairs:
		  Diseases		  Factor
	 1. 	Trachoma 	 :	 Virus
	 2. 	Typhoid	 :	 Salmonella Typhi
	 3. 	Plague 	 :	 Pasteurella Pestis
	 4. 	Syphilis	 :	 Traponema pallidum

		  Which of the pair(s) given above is/are correctly 
matched?

	 (a) 	4 only	 (b)	 2 and 3 only
	  (c) 	1, 2 and 4 only 	 (d) 	 1, 2, 3 and 4

	 31.	 Consider the following statements in the context 
of 'World Digital Competitive Ranking':

	  1. 	India has been ranked 44th in the World 
Digital Competitive Ranking recently 
released by the International Institute for 
Management Development.

	 2. 	This ranking had been started in the year 
2015.

	  3. 	This ranking mainly evaluates three key 
factors - knowledge, technology and future 
preparation.

		  Which of the statement(s) given above is/are not 
correct?

	 (a) 	2 only	 (b)	 1 and 3 only
	  (c) 	3 only	 (d)	 1, 2 and 3

	 32. 	Consider the following statements in the context 
of 'COP-25':

	 1. 	The COP-25 conference was held in Madrid 
of Spain on 10 December 2019.

	 2. 	In this conference, the issue of carbon 
trading related to climate finance was raised 
by India.

	 3. 	India has reduced carbon emissions by 21 
percent of GDP.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only 	 (b)	 1 and 2 only 
	 (c) 	2 and 3 only	 (d)	 1, 2 and 3
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	33.	^ikliksVZ lwpdkad&2020* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 gsuys ikliksVZ baMsDl&2020 ds vuqlkj ikliksVZ 
dh e”kcwrh ds ekeys esa Hkkjr dk LFkku fo'o 
esa 84ok¡ gSA

	 2.	 fuokl vkSj ukxfjdrk fu;kstu iQeZ ^gsuys ,aM 
ikVZulZ* ikliksVZ baMsDl jSafdax dk izdk'ku 	
djrh gSA

	 3.	 ;g lwpdkad fofHkUu ns'kksa ds ikliksVks± dks ,sls 
xarO;ksa dh la[;k ds vuqlkj lwphc¼ djrk gS] 
tgk¡ muds èkkjd fcuk iwoZ oh”kk ds igq¡p 	
ldrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2	

	 (d)	 dsoy 1 vkSj 3
	34.	^oSf'od Hkz"Vkpkj cksèk lwpdkad&2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Vªkalisjsalh baVjus'kuy }kjk tkjh] Hkz"Vkpkj cksèk 
lwpdkad&2019 ds vuqlkj Hkz"Vkpkj ds izfr 
laosnu ds ekeys esa Hkkjr dk LFkku 80ok¡ gSA

	 2.	 Hkkjr dks Hkz"Vkpkj cksèk ds fy;s 100 esa ls 41 
vad izkIr gq, gSa] tks o"kZ 2018 ds vadksa ds 
cjkcj gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	35.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vtark xqiQk dh xqiQk la[;k 9 vkSj 10 dk lacaèk 
'kqax dky ls rFkk ckdh dk lacaèk xqIrdky ls 
gSA

	 2.	 ,yksjk xqiQk ds izkjafHkd fp=k esa cknyksa ls gksdj 
xqtjrs i{kh x#M+ ij viuh iRuh y{eh ds lkFk 
cSBs fo".kq dk fp=k.k gSA

	 3.	 vkezeykbZ xqiQk vkaèkz izns'k esa fLFkr gS] vkBoha 
'krkCnh ds nkSjku bu xqiQkvksa dk ckS¼ eafnj ds 
:i esa :ikarj.k fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	

	 (d)	 1, 2 vkSj 3

	 33.	 Consider the following statements in the context 
of 'Passport Index - 2020':

	 1. 	According to the Henley Passport Index - 
2020, India ranks 84th in the world in terms 
of passport strength.

	 2.	 The residence and citizenship planning firm 
'Henley & Partners' publishes the Passport 
Index ranking.

	 3. 	This index lists passports from different 
countries according to the number of 
destinations that their holders can reach 
without prior visa.

		  Which of the statement(s) given above is/are 
correct? 

	 (a) 	1 and 2 only
	 (b)	 1, 2 and 3
	  (c)	 2 only
	 (d)	 1 and 3 only

	 34. 	Consider the following statements in the context 
of 'Global Corruption Perception Index - 2019': 

	 1. 	According to the Corruption Perception 
Index-2019 released by Transparency 
International, India ranks 80th in terms of 
corruption sensitization.

	 2. 	India has received 41 marks out of 100 for 
the perception of corruption, which is equal 
to the marks of the year 2018.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b)	 2 only
	  (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 35.	 Consider the following statements:
	  1.	 Cave number 9 and 10 of Ajanta Cave are 

related to Sunga period and the rest to Gupta 
period

	 2. 	The initial picture of Ellora Cave has a 
depiction of Vishnu sitting with his wife 
Lakshmi on a bird 'Eagle' passing through 
clouds.

	 3. 	The Amramalai cave is located in Andhra 
Pradesh, these caves were converted into 
Buddhist temples during the 8th century.

	  	Which of the statement(s) given above is/are 
correct?

	  (a)	 1 and 2 only 	
	 (b)	 3 only 
	 (c) 	2 and 3 only	
	 (d)	 1, 2 and 3
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	36.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 nf{k.k Hkkjr ds y?kqfp=kksa esa ratkSj fp=kdyk] tks 
fd vyadkfjd fp=kdykvksa ds fy;s izfl¼ Fkh] 
ljiQksth egkjkt ds laj{k.k esa vkxs c<+hA

	 2.	 eSlwj fp=kdyk dk izeq[k fo"k; fganw nsorkvksa vkSj 
nsfo;ksa dk fp=k.k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	37.	^Fkkaxdk fp=kdyk* fuEufyf[kr esa ls fdl jkT; esa 

lokZfèkd izpfyr gS\

	 (a)	 xq”kjkr	 (b)	 flfDde

	 (c)	 fcgkj	 (d)	 jktLFkku
	38.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ^lksukj* ijkJO; rjaxksa ds mi;ksx ls leqnz ds 
Hkhrj fdlh oLrq dh fLFkfr Kkr djus esa lgk;d 
midj.k gSA

	 2.	 iuMqfCc;ksa ds ukSogu esa ̂ lksukj* dk mi;ksx fd;k 
tkrk gSA

	 3.	 ok;q;kuksa ds ifjpkyu gsrq gokbZ vM~Mksa ij ̂ jMkj* 
dk iz;ksx fd;k tkrk gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	39.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fdlh ysal dh {kerk] ysal }kjk izdk'k fdj.kksa 
dks vfHklj.k vFkok vilj.k djus dh ek=kk 
gksrh gSA

	 2.	 ysal dh {kerk dk SI i¼fr esa ek=kd Mk;ksIVj 
gksrk gS] ftls v{kj D }kjk iznf'kZr fd;k 	
tkrk gSA

	 3.	 vory ysal dh {kerk èkukRed gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	40.	izdk'k dk iw.kZ vkarfjd ijkorZu ds fy;s fuEufyf[kr 

esa ls dkSu&lh fLFkfr dk gksuk vfuok;Z gS\

	 (a)	 izdkf'kd fdj.ksa l?ku ekè;e ls fojy ekè;e esa 
tk jgh gksaA

	 (b)	 vkiru dks.k Økafrd dks.k ls cM+k gksuk pkfg;sA

	 (c)	 mi;qZDr nksuksaA

	 (d)	 mi;qZDr esa ls dksbZ ughaA

	 36.	 Consider the following statements:
	  1. 	Among the miniature painting of South 

India, Tanjore painting, which was famous 
for ornamental paintings, grew under the 
patronage of Sarfoji Maharaj.

	 2. 	The major theme of the Mysore painting was 
the depiction of Hindu gods and goddesses.

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1only	 (b)	 2 only
	  (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 37. 	‘Thangka painting’ is most prevalent in which of 
the following state?

	 (a) 	Gujarat	 (b)	 Sikkim
	  (c) 	Bihar	 (d)	 Rajasthan

	 38.	 Consider the following statements:
	  1. 	‘Sonar’ is a tool used to determine the 

position of an object within the ocean using 
ultrasonic waves.

	 2. 	‘Sonar’ is used in the shipping of submarines.
	 3.	 ‘Radar’ is used at airports for the operation 

of aircraft.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only	  (b)	 2 only
	  (c) 	1 and 3 only	 (d) 	 1, 2 and 3

	 39. 	Consider the following statements:
	 1.	 The capacity of a lens is the amount of light 

rays converging or diverging by the lens.
	 2.	 The SI unit in the method of the lens capability 

is diopter, represented by the letter D.
	 3.	 The concave lens has a positive potential.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	  (b) 	 1 and 2 only
	 (c) 	2 only	  (d) 	 1, 2 and 3

	 40. 	Which of the following conditions is necessary for 
complete internal reflection of light?

	  (a) 	Optical rays are going through a dense 
medium into a sparse medium.

	 (b) 	The angle of incidence should be greater 
than the critical angle.

	 (c) 	Both of the above.
	 (d) 	None of the above.
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	41.	tarq vkSj ikni dksf'kdk ds lanHkZ esa fuEufyf[kr dFkuksa 
esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 tarq dksf'kdk esa ÅtkZ dk laxzg dkcksZgkbMsªV o 
Xykbdks”ku ds :i esa gksrk gSA

	 2.	 ikni dksf'kdkvksa esa o`f¼ eq[;r% dksf'kdk ds 
vkdkj esa o`f¼ djus ls gksrh gSA

	 3.	 ikni dksf'kdk esa ÅtkZ dk laxzg LVkpZ ds :i 
esa gksrk gSA

	 	dwV%
	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 1
	42.	fuEufyf[kr esa ls dsf'kdRo dk@ds mnkgj.k gS@gSa&
	 1.	 ykyVsu esa feV~Vh ds rsy dk cÙkh esa Åij p<+ukA
	 2.	 fuc okys isuA
	 3.	 ikSèkksa dh tM+ksa }kjk e`nk ls ty vo'kks"k.kA
	 	dwV%
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	43.	gky gh esa fj”koZ cSad vkWiQ bafM;k us o"kZ 2019–2024 

dh vofèk ds fy;s ^foÙkh; lekos'ku gsrq jk"Vªh; 
dk;Zuhfr* rS;kj djus dh izfØ;k izkjaHk dh gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 foÙkh; lekos'ku gsrq jk"Vªh; dk;Zuhfr dks ^foÙkh; 
fLFkjrk vkSj fodkl ifj"kn* }kjk vuqeksfnr fd;k 
x;k gSA

	 2.	 bl dk;Zuhfr dk izeq[k mís'; ekpZ] 2020 rd 
izR;sd xk¡o ds 5 fdeh- ds nk;js esa rFkk igkM+h 
{ks=kksa ds 500 ifjokjksa ds lewg rd cSafdax igq¡p 
dks c<+kuk gSA

	 3.	 vkj-ch-vkbZ- ds vuqlkj] ekpZ] 2024 rd eksckby 
ds ekè;e ls foÙkh; lsokvksa rd izR;sd o;Ld 
dh igq¡p lqfuf'pr djuh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	44.	gky gh esa ljdkj }kjk lkaf[;dh vk¡dM+ksa ij ns'k dh 

loksZPp lykgdkj laLFkk dh Lok;Ùkrk c<+kus ds mís'; 
ls jk"Vªh; lkaf[;dh vk;ksx foèks;d dk elkSnk rS;kj 
fd;k x;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl foèks;d ds elkSns esa jk"Vªh; lkaf[;dh vk;ksx 
dks ns'k ds lHkh lkaf[;dh; ekeyksa ds fy;s loksZPp 
rFkk Lok;Ùk laLFkk cukus vkSj bldh lajpuk esa 
ifjorZu ds fy;s izkoèkku fd;s x, gSaA

	 2.	 bl elkSns ds rgr ,u,llh dh lykgdkj laLFkk 
dh Hkwfedk dks cuk, j[krs gq, ;g izkoèkku fd;k 
x;k gS fd uhfr;ksa ls lacafèkr iz'uksa ij vafre 
fu.kZ; ljdkj djsxhA

	 41. 	Which of the following statements is/are correct 
in the context of animal and plant cells?

	 1.	 In the animal cell, energy is stored in the 
form of carbohydrates and glycogen.

	 2.	 Growth in plant cells mainly results in an 
increase in cell size.

	 3.	 Energy is stored in the plant cell in the form 
of starch.

	 code:
	 (a)	 1, 2 and 3	 (b) 	 2 and 3 only
	  (c) 	1 and 2 only	 (d) 	 1 only
	 42. 	The examples of capillarity from the following is/

are:
	 1. 	Climbing up the kerosene into the lights in 

lanterns.
	 2.	 Nib pens.
	 3.	 Water absorption from soil by plant roots.
	 code:
	 (a) 	1 and 2 only	 (b) 	 3 only
	  (c) 	2 only	  (d) 	 1, 2 and 3
 	43. 		Recently the Reserve Bank of India has started the 

process of preparing a 'National Strategy for 
Financial Inclusion' for the period of the year 
2019-2024. Consider the following statements in 
this context:

	 1.	 The National Strategy for Financial 
Inclusion has been approved by the 
'Financial Stability and Development 
Council'.

	 2.	 The main objective of this strategy is to 
extend banking access in the area of 5 km. 
in each villages and group of 500 families 
of hilly areas.

	 3.	 According to R.B.I every adult has to ensure 
access to financial services through mobile 
by March 2024.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	  (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3
	 44. 	Recently, the National Statistical Commission Bill 

has been drafted by the government with the 
objective of increasing the autonomy of the 
country's highest advisory body on statistics. 
Consider the following statements in this context:

	 1.	 In the draft of this bill, provisions have 
been made to make the National Statistical 
Commission the apex and autonomous body 
for all statistical matters of the country and 
change its structure.

	 2.	 While maintaining the role of NSC's 
advisory body under this draft, a provision 
has been made that the government will take 
the final decision on the questions related to 
the policies.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	45.	1 iQjojh] 2020 dks foÙk ea=kh fueZyk lhrkje.k us foÙk 

o"kZ 2020-21 dk ctV is'k fd;kA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ljdkj us foÙk o"kZ 2020-21 esa ` 30.42 yk[k 
djksM+ [kpZ djus dk izLrko fd;k gSA

	 2.	 ljdkj us foÙk o"kZ 2020-21 esa lkadsfrd th-Mh-
ih- esa 10 izfr'kr dh òf¼ nj vuqekfur dh gSA

	 3.	 ljdkj us dsanzh; ctV ds ekè;e ls lgdkjh 
laLFkkvksa vkSj dkiksZjsV {ks=k ds chp lekurk ykus 
dk iz;kl fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	46.	^th-,l-Vh- ifj"kn* ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 ;g oLrq ,oa lsok dj ls lacafèkr eqn~nksa ij dsanz 

vkSj jkT; ljdkj dks fliQkfj'k djus ds fy;s 
,d laoSèkkfud fudk; gSA

	 2.	 101osa lafoèkku la'kksèku }kjk lafoèkku ds vuqPNsn 
279 A(1) esa th-,l-Vh- ifj"kn dk izkoèkku fd;k 
x;k gSA

	 3.	 th-,l-Vh- ifj"kn dh vè;{krk izèkkuea=kh 	
djrs gSaA

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	47.	^jk"Vªh; lkaf[;dh vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ^jk"Vªh; lkaf[;dh vk;ksx* dk xBu 1 twu] 2005 

dks lh- jaxjktu lfefr dh vuq'kalk ij fd;k 
x;kA

	 2.	 bldk dk;Z ns'k dh lHkh izeq[k lkaf[;dh 
xfrfofèk;ksa dh fuxjkuh] fodkl rFkk buds fy;s 
mÙkjnk;h fofHkUu laLFkkvksa ds eè; lg;ksx 
LFkkfir djuk FkkA

	 3.	 lkaf[;dh rFkk dk;ZØe dk;kZUo;u ea=kky; ds 
lfpo dks Hkkjr dk eq[; lkaf[;dhfon~ dgk 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 45.	 On February 1, 2020, Finance Minister Nirmala 
Sitharaman presented the budget for FY 2020 - 21. 
Consider the following statements in this context:

	 1.	 Government has proposed to spend `30.42 
lakh crores in FY 2020-21.

	 2.	 Government has projected a growth rate of 
10 percent in nominal GDP in FY 2020-21.

	 3.	 The government has tried to bring equality 
between the cooperatives institutions and 
the corporate sector through the Union 
Budget.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only	 (b)	 2 and 3 only
	 (c) 	3 only	 (d) 	 1, 2 and 3

	 46. 	Which of the following statements is/are not 
correct in the context of G.S.T. Council?

	 1.	 It is a constitutional body to recommend to 
the Central and State Government on the 
issues related to Goods and Services Tax.

	 2.	 In the Article 279A (1) of the Constitution 
by the 101st Constitution Amendment 
G.S.T. Council has been provisioned.

	 3.	 G.S.T. Council has been headed by the 
Prime Minister.

		  Code:
	  (a)	 3 only	 (b) 	 1 and 2 only
	  (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 47. 	With reference to 'National Statistical Commission' 
Consider the following statements:

	 1.	 'National Statistical Commission' was formed 
on 1 June 2005 on the recommendation of C. 
Rangarajan Committee.

	 2.	  Its function was to monitor, develop 
and establish cooperation among various 
institutions responsible for all major 
statistical activities of the country.

	 3.	 The Secretary of Ministry of Statistics and 
Program 	Implementation is called the Chief 
Statistician of India.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	  (b)	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3
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	48.	^;kruk ds fo#¼ ;w-,u- dUosa'ku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g dUosa'ku 26 twu] 1987 dks izHkko esa vk;k 

Fkk ,oa 169 ns'k blds i{kdkj gSaA

	 2.	 gky gh esa ekynho ds jk"Vªifr us bl dUosa'ku 

ds vuqPNsn&22 ls lacafèkr ?kks"k.kk&i=k ij 

gLrk{kj fd;s gSaA

	 3.	 ;g dUosa'ku jkT;ksa dks vius {ks=kkfèkdkj ds vanj 

fdlh Hkh {ks=k esa ;kruk dks jksdus ds fy;s izHkkoh 

mik; lqfuf'pr djus ij cy nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 dsoy 2 vkSj 3
	49.	^;wfuolZy iksLVy ;wfu;u* (;w-ih-;w) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk xBu o"kZ 1874 esa fd;k x;k Fkk vkSj 

bldk eq[;ky; fLoV~”kjySaM ds cuZ esa fLFkr gSA

	 2.	 gky gh esa Hkkjrh; izèkkuea=kh dh vè;{krk esa 

dsanzh; eaf=keaMy }kjk ;w-ih-;w- ds lafoèkku esa 

10osa vfrfjDr izksVksdkWy dks 'kkfey fd;s tkus 

dh iqf"V dh xbZA

	 3.	 vfrfjDr izksVksdkWy dks 'kkfey fd;s tkus dh 

iqf"V ls Hkkjr Hkh lnL; ns'k ds :i esa ;w-ih-

;w- ds lafoèkku ds 25osa vuqPNsn dh ckè;rkvksa 

dks iwjk dj ldsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	50.	^viQxkfuLrku* dh HkkSxksfyd fLFkfr ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lsaVªy ,f'k;k esa ikehj iBkj ds nf{k.k&if'pe 

esa fLFkr viQxkfuLrku ,d rVh; ns'k gS] tgk¡ 

dh tula[;k fganw ckgqY; gSA

	 2-	 viQxkfuLrku dh eq[; ioZr Js.kh fganwdq'k gSA

	 3-	 viQxkfuLrku ds vkew ,oa mldh lgk;d dqant 

rFkk dksDpk ufn;ksa }kjk fufeZr mÙkjh eSnkuh Hkkx 

dks NksM+dj bldk vfèkdrj Hkkx igkM+h vkSj 

iBkjh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2 	 (d)	 1, 2 vkSj 3

	 48. 	Consider the following statements in the context 
of 'UN convention against Torture':

	 1.	 The Convention came into effect on 26 June 
1987 and 169 countries are its parties.

	 2.	 Recently, the President of Maldives has 
signed a declaration related to Article 22 of 
this Convention.

	 3.	 This convention emphasizes the states to 
ensure effective measures to prevent torture 
in any area within their jurisdiction.

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1, 2 and 3	  (b) 	 1 and 3 only
	 (c) 	2 only	  (d) 	 2 and 3 only

	 49. 	Consider the following statements in the context 
of 'Universal Postal Union' (U.P.U) :

	 1.	 It was formed in the year 1874 and its 
headquarter is located in Bern, Switzerland.

	 2.	 Recently, the Union Cabinet chaired by the 
Prime Minister of India the inclusion of the 
10th additional Protocol was ratified in the 
Constitution of U.P.U.

	 3.	 With the confirmation of the inclusion of 
additional protocols, India also as a member 
country Will be able to fulfill the obligations 
of the 25th Article of the Constitution of 
U.P.U.

		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	 (b) 	 1 and 2 only
	  (c) 	2 and 3 only	  (d) 	 1, 2 and 3

	 50.		  With reference to the geographical location of 
'Afghanistan', consider the following statements:

	 1.	 Afghanistan, located in the southwest of the 
Pamir Plateau in Central Asia is a coastal 
country with the population of Hindu 
majority.

	 2.	 The main mountain range of Afghanistan is 
Hindukush.

	 3.	 Most of its area is mountainous and plateau 
except the northern plains formed by the 
Amu and its tributaries Kundaj and Kokcha 
rivers of Afghanistan.

		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	 (b) 	 2 and 3 only
	 (c) 	2 only	 (d) 	 1, 2 and 3
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	51.	^xzsV bafM;u cLVMZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g fo'o esa lcls vfèkd o”ku ds mM+us okys 
if{k;ksa esa ls ,d gSA

	 2.	 xzsV bafM;u cLVMZ dks oU;tho laj{k.k vfèkfu;e& 
1972 dh vuqlwph&1 esa rFkk vkbZ-;w-lh-,u- dh 
jsM fyLV esa xaHkhj :i ls ladVxzLr dh Js.kh 
esa j[kk x;k gSA

	 3.	 gky gh esa e#Hkwfe jk"Vªh; m|ku tSlyesj esa 
LFkkfir laj{k.k dsanz esa 9 LoLFk xzsV bafM;u cLVMZ 
pwtksa ds tUe dh iqf"V dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3
	52.	gky gh esa pfpZr ^cksTtudksaMk* o ^fyaxykesÙkk* ckS¼ 

LFky fuEufyf[kr esa ls fdl jkT; esa vofLFkr gSa\

	 (a)	 vkaèkz izns'k	 (b)	 rfeyukMq

	 (c)	 egkjk"Vª	 (d)	 dukZVd
	53.	,d lhax okyk xSaMk (Hkkjrh; xSaMk) ds lanHkZ esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 ;g vkbZ-;w-lh-,u- dh jsM fyLV esa lqHks| Js.kh 

esa 'kkfey gSA

	 2-	 xSaMs dh lHkh iztkfr;ksa esa ;g xSaMk vkdkj esa 
lcls cM+k gksrk gSA

	 3-	 Hkkjr esa xSaMksa dh la[;k esa o`f¼ ds fy;s ̂ bafM;u 
jkbuks fo”ku* 2020 dk;ZØe pyk;k tk jgk gSA

		 dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	54.	Hkkjr ljdkj }kjk ^ÅtkZ n{krk C;wjks* dh LFkkiuk fdl 

o"kZ dh xbZ\

	 (a)	 o"kZ 2002 esa	 (b)	 o"kZ 2008 esa
	 (c)	 o"kZ 2013 esa	 (d)	 o"kZ 2019 esa
	55.	^jkT; ÅtkZ n{krk lwpdkad&2019* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 10 tuojh] 2020 dks dsanzh; ÅtkZ ea=kky; }kjk 

;g lwpdkad tkjh fd;k x;kA

	 2.	 ;g lwpdkad 97 egÙoiw.kZ ladsrdksa ds vkèkkj 
ij jkT;ksa vkSj dsanz'kkflr izns'kksa esa ÅtkZ n{krk 
igy dh izxfr ds ckjs esa tkudkjh iznku 	
djrk gSA

	 3.	 bl lwpdkad ds rgr gfj;k.kk] dsjy vkSj dukZVd 
o"kZ 2019 esa ^vphoj* lewg esa Js"B izn'kZu 
djus okys jkT; gSaA

	 51.	 Consider the following statements in the context 
of 'Great Indian Bustard': 

	 1.	 It is one of the most weighted flying birds in 
the world.

	 2.	 The Great Indian Bustard was included in 
Schedule-1 of the Wildlife Protection Act 
1972 and has been categorized as critically 
endargerd in the Red List of IUCN.

	 3.	 Recently the birth of 9 healthy Great Indian 
Bustard Chicks has been confirmed at the 
Conservation Center established in Desert 
National Park Jaisalmer.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	  (b)	 1, 2 and 3
	  (c) 	2 and 3 only	  (d) 	 3 only

	 52. 	Recently in news 'Bojjanakonda' and 'Lingalametta' 
Buddhist sites are located In which of the following 
states ?

	  (a) 	Andhra Pradesh	  (b) 	 Tamil Nadu
	  (c) 	Maharashtra	  (d) 	 Karnataka

	 53.	 Which of the following statements is/are correct 
in the context of one-horned rhinoceros (Indian 
rhinoceros).?

	 1.	 It is included in the vulnerable category of 
IUCN’s Red List.

	 2.	 This rhinoceros is the largest in size among 
all rhinoceros species.

	 3.	 To increase the number of rhinos in India, 
'Indian Rhino Vision' 2020 program is being 
run.

		  Code:
	  (a) 	1 only	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 54. 	In which of the year was the 'Energy Efficiency 
Bureau' established by the Government of India?

	  (a) 	In the year 2002	 (b) 	 In the year 2008
	 (c) 	In the year 2013	  (d) 	 In the year 2019

	 55. 	With reference to 'State Energy Efficiency Index- 
2019', consider the following statements:

	 1.	 The index was released by the Union 
Ministry of Power on January 10, 2020.

	 2.	 This index provides information about the 
progress of energy efficiency initiatives 
in states and union territories based on 97 
important indicators.

	 3.	 Under this index, Haryana, Kerala and 
Karnataka are the best performing states in 
the 'Achiever' group in the year 2019. 
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3 	 (d)	 dsoy 2
	56.	H9N2 ok;jl ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 H9N2 ok;jl] bUÝyw,atk ok;jl A dk ,d 

mi&izdkj gS] tks áweu bUÝyw,atk ds lkFk&lkFk 
cMZ Ýyw dk Hkh dkj.k gSA

	 2.	 H9N2 ok;jl igyh ckj o"kZ 1966 esa la;qDr 
jkT; vesfjdk ds foLdksaflu esa taxyh lwvjksa esa 
ik;k x;k FkkA

	 3.	 Hkkjr esa bl ok;jl dks iQjojh 2019 esa egkjk"Vª 
ds esy?kkV f”kys dh dksjdw tutkfr esa leqnk; 
vkèkkfjr fuxjkuh vè;;u ds nkSjku ns[kk x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 dsoy 2
	57.	gky gh esa Hkkjr ds uohure lapkj mixzg thlSV&30 

dks ,fj;uLisl ds ^xq;kuk Lisl lsaVj* ls varfj{k esa 
iz{ksfir fd;k x;kA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 thlSV&30 dks ,fj;u&5 Lisl Oghdy VA-251 
dh lgk;rk ls Hkw&rqY;dkfyd d{kk esa LFkkfir 
fd;k x;k gSA

	 2-	 thlSV&30 dks vYiQk fM”kkbu VsDuksykWth”k 
fyfeVsM }kjk caxyw: esa vlsacy fd;k x;k gSA

	 3-	 ;g mixzg o"kZ 2005 esa iz{ksfir bulSV&4A 
mixzg dks izfrLFkkfir djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	58.	^bafM;u MkVk fjys lSVsykbV flLVe* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ^bafM;u MkVk fjys lSVsykbV flLVe* uked nks 

mixzgksa okyh bl iz.kkyh dk mn~ns'; bljks dks 
varfj{k esa mixzgksa ls laidZ LFkkfir djus esa 
lgk;rk iznku djuk gSA

	 2-	 bl iz.kkyh }kjk fuEu Hkw&d{kk ds dk;ZØeksa] 
tSls& Lisl MkWfdax] Lisl LVs'ku rFkk vU; cM+s 
vfHk;kuksa] tSls& panz;ku] eaxy fe'ku vkfn esa 
lgk;rk izkIr gksxhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1, 2 and 3	 (b) 	 1 and 2 only
	  (c)	 3 only	 (d) 	 2 only

	 56. 	Consider the following statements in the context 
of H9N2 virus:

	 1.	 The H9N2 virus is a subtype of influenza 
virus A, which causes human influenza as 
well as bird flu.

	 2.	 H9N2 virus was first detected in wild pigs 
in the year 1966 in Viscosin, USA.

	 3.	 The virus was detected in India during a 
community-based surveillance study in 
February 2019 in the Korku tribe of Melghat 
district, Maharashtra.

		  Which of the statement(s) given above is/are correct?
	  (a)	 1 and 3 only	 (b)	 1, 2 and 3
	  (c) 	3 only	  (d) 	 2 only

	 57.	 Recently India's latest communication satellite 
GSAT-30 was launched into space from 
Arianespace's 'Guyana Space Center'. Consider the 
following statements in this context:

	 1.	 GSAT-30 is installed in geo-synchronous 
orbit with the help of Ariane-5 space vehicle 
VA-251.

	 2.	 GSAT-30 is assembled by Alpha Design 
Technologies Ltd. in Bangalore.

	 3.	 This satellite will replace the INSAT-4A 
satellite launched in the year 2005.

	  	Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	  (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 58. 	With reference to 'Indian data relay satellite 
system', consider the following statements:

	 1.	 The system, with two satellites called 'Indian 
Data Relay Satellite System', is intended 
to help ISRO for establishing connectivity 
with satellites in space.

	 2.	 This system will help in the low earth orbit 
programs like space docking, space station 
and other big missions like - Chandrayaan, 
Mars mission etc.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2
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	 59.	gky gh esa fuEufyf[kr esa ls fdl jkT; ljdkj }kjk 
'kSf{kd laLFkkuksa esa lh[kus ds ifj.kkeksa esa o`f¼ djus 
vkSj lkekftd dY;k.k ;kstukvksa ds ckjs esa tkx:drk 
iSnk djus ds fy;s O;kid iSekus ij ^mixzg 
lapkj&lsVdkWe* dk mi;ksx 'kq: fd;k x;k gS\

	 (a)	 gfj;k.kk	 (b)	 jktLFkku

	 (c)	 vksfM'kk 	 (d)	 if'pe caxky
	 60.	^U;weksdksdy oSDlhu* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 gky gh esa MCY;w-,p-vks- us iq.ks fLFkr lhje 

baLVhV~;wV vkWiQ bafM;k }kjk fodflr U;weksdksdy 
oSDlhu ̂ U;weksfly* dks vkjafHkd Lrj ij LohÑfr 
iznku dh gSA

	 2-	 U;weksfly eq[;r% ,d la;qfXer oSDlhu gS] tks 
,d de”kksj ,aVhtu ds izfr e”kcwr izfrj{kk 
izfrfØ;k dk fuekZ.k djrh gSA

	 3.	 U;weksdksdy Vhdkdj.k U;weksdksdl uked thok.kq 
ds dkj.k isQiQM+s esa gksus okys ,d fof'k"V izdkj 
ds laØe.k dks jksdus dh fofèk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2
	61.	^LVSP;w vkWiQ ;wfuVh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ^LVSP;w vkWiQ ;wfuVh* 182 ehVj Å¡ph ljnkj 

oYyHkHkkbZ iVsy dh izfrek gSA

	 2.	 ;g xqtjkr ds ueZnk f”kys esa ljnkj ljksoj ckaèk 
ds ikl jktihiyk esa lkèkqcsV uked unh }hi ij 
fLFkr gSA

	 3.	 ;g phu ds fLizax Vsaiy esa fLFkr 153 ehVj Å¡ph 
izfrek ls Hkh Å¡ph gS vkSj U;w;kWdZ dh LVSP;w 
vkWiQ fycVhZ dh Å¡pkbZ ls djhc nksxquh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	62.	^yqIrizk; Hkk"kk ifj;kstuk* (bZ-,y-ih-) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl ifj;kstuk dh 'kq#vkr fofHkUu ns'kksa ds 

Hkk"kkfonksa vkSj Hkk"kk laLFkkuksa ds lg;ksx ls o"kZ 
2018 esa dh xbZ FkhA

	 2.	 bldk izeq[k mís'; yqIrizk; Hkk"kkvksa ls lacafèkr 
tkudkjh dk vknku&iznku vkSj mudk laj{k.k 
djuk gSA

	 3.	 bZ-,y-ih- ds vk¡dM+ksa ds vuqlkj] Hkkjr esa yxHkx 
201 Hkk"kk,¡ foyqIr gksus ds dxkj ij gSaA

	 59. 	Which of the following state government has 
recently started using 'satellite communication - 
setcom' on a large scale to increase learning 
outcomes in educational institutions and create 
awareness about social welfare schemes?

	  (a)	 Haryana	  (b) 	 Rajasthan
	 (c) 	Odisha	  (d) 	 West Bengal

	 60. 	Consider the following statements in the context 
of ‘Pneumococcal Vaccine’.

	 1.	 Recently W.H.O. has initially approved 
the pneumococcal vaccine 'Pneumosil' 
developed by the Pune-based Serum 
Institute of India.

	 2.	 Pneumosil is primarily a conjugated vaccine 
that produces a strong immune response to a 
weak antigen.

	 3.	 Pneumococcal vaccination is a method 
of preventing a specific type of infection 
in the lungs caused by a bacterium called 
pneumococcus.

		  Which of the statement(s) given above is / are 
correct?

	 (a)	 1 and 2 only	  (b) 	 2 and 3 only
	 (c) 	1, 2 and 3	 (d) 	 2 only

	 61. 	Consider the following statements in the context 
of 'Statue of Unity'.

	 1.	 The ‘Statue of Unity’ is a 182 meter high 
statue of Sardar Vallabhbhai Patel.

	 2.	 It is located near the Sardar Sarovar Dam in 
the Narmada district of Gujarat on the river 
island called Sadhubet in Rajpipla.

	 3.	 It is higher than the 153 meter high statue 
located in the Spring Temple of China and 
nearly double in height from the 'Statue of 
Liberty' of New York. 

		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 and 2 only	 (b) 	 1 only
	  (c) 	2 and 3 only	 (d) 	 1, 2 and 3.

	 62. 	With reference to 'Endangered Language Project' 
(ELP), Consider the following statements:

	 1.	 The project was started in the year 2018 in 
collaboration with linguists and language 
institutions from different countries.

	 2.	  Its main purpose is to exchange and preserve 
information related to the endangered 
languages.

	 3.	 According to the data of ELP, about 201 
languages in India are on the verge of 
extinction.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	63.	^vfHkfyf[kr ou {ks=k* (vkj-,iQ-,-) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vfHkfyf[kr ou {ks=k ,slh Hkwfe dks dgrs gSa] ftls 
fdlh ljdkjh vfèkfu;e ;k fu;e ds rgr ou 
ds :i esa vfèklwfpr fd;k x;k gksA

	 2.	 ^Hkkjr ou fLFkfr fjiksVZ&2019* esa vknzZHkwfe;ksa 
dks Hkh vkj-,iQ-,- ds varxZr 'kkfey fd;k 
x;k  gSA

	 3.	 Hkkjrh; jkT;ksa esa vkj-,iQ-,- ds varxZr lokZfèkd 
vknzZHkwfe xqtjkr esa gS rFkk nwljs LFkku ij if'pe 
caxky gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 3

	 (c)	 dsoy 2 	 (d)	 dsoy 1 vkSj 2
	64.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr esa b±èku dh ydM+h ds fy;s ouksa ij 
lokZfèkd vkfJr jkT; egkjk"Vª gS] tcfd pkjk] 
bekjrh ydM+h vkSj ck¡l ij lokZfèkd vkfJr 
jkT; eè; izns'k gSA

	 2.	 Hkkjr ds dqy oukoj.k dk 21.40% {ks=k oukfXu 
ls izHkkfor gSA

	 3.	 Hkkjr ds ouksa esa ̂ e`nk tSfod dkcZu* dkcZu LVkWd 
esa lokZfèkd Hkwfedk fuHkkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	65.	Hkkjr esa phuh m|ksx ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 orZeku esa phuh m|ksx Hkkjr esa lwrh oL=k ds 

ckn nwljk lcls cM+k Ñf"k vkèkkfjr m|ksx gSA

	 2.	 20oha 'krkCnh ds izkjaHk esa phuh m|ksx dh 'kq#vkr 
mÙkj izns'k vkSj fcgkj esa uhy mRikndksa }kjk 
flaFksfVd MkbZ ds izkjaHk ds dkj.k uhy dh ekax 
esa deh vkus ds ckn dh xbZ FkhA

	 3.	 pkyw foi.ku o"kZ 2019-20 ds igys rhu eghuksa 
esa ns'k dk phuh mRiknu 30.22% c<+dj 8.89 
fefy;u Vu gks x;kA

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

		  Which of the statements given above is/are not 
correct?

	  (a) 	1 only	  (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 63. 	With reference to 'Recorded Forest Area' (RFA), 
consider the following statements:

	 1.	 Recorded forest area refers to land that 
has been notified as forest under any 
government act or rule.

	 2.	 In 'India state of Forest Report - 2019 
wetlands are also included under R.F.A.

	 3.	 In Indian states, Under RFA , the most of 
wetland is in Gujarat and on the second 
position is West Bengal.

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1, 2 and 3	 (b) 	 3 only
	 (c) 	2 only	  (d) 	 1 and 2 only

	 64. 	Consider the following statements:
	 1.	 Maharashtra is the most dependent state 

on forests for fuel wood, while Madhya 
Pradesh is the most dependent state on 
fodder, timber and bamboo.

	 2.	 21.40% area of the total forest cover of 
India is affected by forest fire.

	 3.	 ‘Soil organic carbon’ plays the most role in 
the carbon stock in India's forests.

		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	  (b) 	 1 and 2 only
	  (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 65. 	Which of the following statements is / are not 
correct in the context of sugar industry in India?

	 1.	 Currently, the sugar industry is the second 
largest agro-based industry in India after 
cotton textiles.

	 2.	 The sugar industry started in the early 20th 
century by indigo producers in Uttar Pradesh 
and Bihar after reducing demand for indigo 
due to the introduction of synthetic dye.

	 3.	 In the first three months of the current 
marketing year 2019-20 the country's Sugar 
production became 8.89 million tonnes 
increasing by 30.22%.

	 Code:
	  (a) 	3 only	  (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3
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	66.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 oy;kdkj lw;Z xzg.k dh fLFkfr rc curh gS] 

tc panzek i`Foh ls nwj gksrk gS rFkk bldk vkdkj 
NksVk fn[kkbZ nsrk gSA

	 2.	 oy;kdkj lw;Z xzg.k dh fLFkfr lw;Z dh ckgjh 
ijr dksjksuk ds vè;;u ds fy;s vkn'kZ gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2
	67.	gky gh esa ̂ bafM;k LVsV ysoy fM”kh”k cMZu bfuf'k,fVo* 

}kjk igyh ckj Hkkjr esa ekufld jksxksa ds fy;s f”kEesnkj 
dkj.kksa dk ,d O;kid vuqeku ykalsV lkbdSVªh esa 
izdkf'kr fd;k x;kA bl lanHkZ esa fuEufyf[kr dFkuksa 
esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 bl fjiksVZ dks ̂ n cMZu vkWiQ esaVy fMlvkWMZj vØkWl 
n LVsV~l vkWiQ bafM;k% n Xykscy cMZu vkWiQ fM”kh”k 
^LVMh 1990-2017* uke fn;k x;k gSA

	 2.	 ;g fjiksVZ Hkkjr esa lHkh izdkj ds ekufld fodkjksa 
ds izlkj vkSj chekjh ds cks> dk o.kZu djrh gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	68.	fuEufyf[kr esa ls dkSu&lk jkT; vius Hkwfe fjdkWMZ dks 

izèkkuea=kh iQly chek ;kstuk ds osc iksVZy ls ,dhÑr 
djus okyk ns'k dk igyk jkT; cu x;k gS\

	 (a)	 egkjk"Vª	 (b)	 fcgkj

	 (c)	 if'pe caxky	 (d)	 rsyaxkuk
	69.	^Hkkjrh; varnsZ'kh; tyekxZ izkfèkdj.k* ds lanHkZ esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 bldh LFkkiuk 27 vDVwcj] 1986 dks gqbZ FkhA

	 2.	 ;g tgk”kjkuh ea=kky; ds rgr dk;Z djrk gSA

	 3.	 bldk eq[;ky; uks,Mk ,oa {ks=kh; dk;kZy; 
dksydkrk] xqokgkVh vkSj dksfPp esa gSaA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	70.	^vle varnsZ'kh; ty ifjogu ifj;kstuk* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa fo'o cSad us vle varnsZ'kh; ty 

ifjogu ifj;kstuk ds fy;s ̀  630 djksM+ ds ½.k 
dks ea”kwjh nhA

	 2.	 bl ifj;kstuk dks xqokgkVh vkSj ektqyh esa 'kq: 
fd;k tk,xkA

	 3.	 ;g ifj;kstuk ̂ izÑfr vfHkiszfjr fuekZ.k ds fl¼kar* 
ij dk;Z djsxhA

	 66. 	Consider the following statements:
	 1.	 An annular solar eclipse happens when the 

Moon is farthest from the Earth and its size 
appears small.

	 2.	 The situation of the annular solar eclipse 
is ideal for studying the outer layer of the 
Sun's corona.

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1 only	  (b) 	 2 only
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2
	 67. 	Recently, a comprehensive presumption of the 

causes responsible for mental disorders in India 
was first published in Lancet Psychiatry by the 
'India State Level Disease Burden Initiative'. 
Which of the following statement(s) is/are correct 
in this context?

	 1.	 This report has been titled 'With The Burden 
of Mental Disorder Across the States of 
India: The Global Burden of Disease Study 
1990 - 2017'.

	 2.	 This report describes the prevalence of all 
types of mental disorders and burden of 
disease in India.

	 Code:
	 (a) 	1 only	 (b)	 2 only
	  (c) 	Both 1 and 2	  (d) 	 Neither 1 Nor 2
	 68. 	Which of the following states has become the first 

state in the country to integrate its land records 
from the web portal of Pradhan Mantri Fasal Bima 
Yojana?

	  (a) 	Maharashtra	 (b) 	 Bihar
	 (c) 	West Bengal	  (d) 	 Telangana
	 69. 	Which of the following statements is/are correct 

in the context of 'Inland Waterways Authority of 
India'?

	 1.		 It was established on October 27, 1986.
	 2.	 It operates under the Ministry of Shipping.
	 3.	 It has its headquarter in Noida and regional 

offices in Kolkata, Guwahati and Kochi.
	 Code:
	 (a) 	1 only	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3
	 70. 	With reference to 'Assam Inland Water Transport 

Project' consider the following statements:
	 1.	 Recently the World Bank approved a loan 

of ₹ 630 crore for the Assam Inland Water 
Transport Project.

	 2.	 The project will be launched in Guwahati 
and Majuli.

	 3.	 This project will work on the principle of 
'Nature Driven Construction'.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 71.	 uklk us i`Foh ds vkdkj tSls ,d xzg 'TOI 700d' dh 

[kkst dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g xzg i`Foh ls 20% vfèkd cM+k gS vkSj ;g 
vius rkjs dh ifjØek 37 fnuksa esa iwjh djrk gSA

	 2.	 ;g xzg xksYMhykWDl ”kksu esa lw;Z dh ifjØek 
djrk gSA 

	 3.	 bl xzg dks ÅtkZ blds rkjs TOI 700 ls izkIr 
gksrh gS vkSj ;g ÅtkZ lw;Z ls i`Foh dks izkIr 
gksus okyh ÅtkZ ds 86% ds cjkcj gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	72.	^y?kq foÙk cSad* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 f'kokfyd eds±Vkby lgdkjh cSad fyfeVsM dks 
Hkkjrh; fj”koZ cSad }kjk ̂ y?kq foÙk cSad* dk ntkZ 
iznku fd;k x;k gSA

	 2.	 Hkkjrh; fj”koZ cSad us 27 flracj] 2018 dks 
'kgjh lgdkjh cSadksa dks LosPNk ds vkèkkj ij 
y?kq foÙkh; cSad dk ntkZ nsus dh ;kstuk izkjaHk 
dh FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2
	73.	vkink izcaèku esa ^jk"Vªh; vkink vuqfØ;k cy (,u-Mh-

vkj-,iQ) dh Hkwfedkvksa esa 'kkfey gS@gSa&

	 1.	 izkÑfrd o ekuo fufeZr vkink esa Rofjr lgk;rk 
iznku djukA

	 2.	 jkgr cpko dk;ks± esa tqVha vyx&vyx lqj{kk 
,tsafl;ksa ds chp leUo; LFkkfir djukA

	 3.	 vkink {ks=k ls yksxksa dks lqjf{kr ckgj fudkyuk 
,oa jkgr lkexzh dk forj.k djukA

	 	dwV%

	 (a)	 1, 2 vkSj 3	

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2	

	 (d)	 dsoy 3

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1 only	 (b) 	 1 and 2 only
	  (c) 	2 and 3 only	 (d) 	 1, 2 and 3

	 71. 	NASA has discovered a planet shaped like the Earth 
'TOI 700d'. Consider the following statements in 
this context:

	 1.	 This planet is 20% larger than the Earth and 
It orbit its star in 37 days.

	 2.	 The planet orbits the Sun in the Goldilocks 
zone.

	 3.	 This planet receives energy from its star 
TOI 700 and this energy is equal to 86% of 
the energy received by the Earth from the 
Sun.

		  Which of the statement(s) given above is / are not 
correct?

	  (a) 	2 only	  (b) 	 1 and 2 only
	  (c) 	1 and 3 only	  (d) 	 1, 2 and 3

	 72. 	Consider the following statements in the context 
of 'Small Finance Bank'.

	 1.	 Shivalik Mercantile Co-operative Bank 
Limited has been conferred the status of 
'Small Finance Bank' by the Reserve Bank 
of India.

	 2.	 On September 27, 2018, the Reserve Bank 
of India started the scheme of granting 
Small Cooperative Banks status to urban 
cooperative banks on a voluntary basis.

	  	Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	  (b) 	 2 only
	  (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 73. 	The roles of 'National Disaster Response Force 
(NDRF) in Disaster Management include(s)–

	 1.	 To Provid prompt assistance in natural and 
man-made disasters.

	 2.	 To coordinate among different security 
agencies engaged in relief rescue operations.

	 3.	 Safe evacuation of people from disaster 
area and distribution of relief material.

	 Code:
	 (a) 	1, 2 and 3	
	 (b) 	1 and 2 only
	 (c) 	2 only	
	 (d) 	3 only
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	74.	vuql w fpr tkfr@tutkfr (vR;kpkj fuokj.k) 
vfèkfu;e] 1989 ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl vfèkfu;e ds rgr vijkèkksa dh tk¡p vkSj 
ihfM+rksa ds iquokZl o jkgr ds fy;s fo'ks"k 
U;k;ky;ksa dk izkoèkku fd;k x;k gSA

	 2.	 blds rgr ,l-lh@,l-Vh leqnk; ds yksxksa dks 
muds vfèkdkjksa ls oafpr djus ds lkFk gh HksnHkko 
o mRihM+u vkfn dks c<+kok nsus okys yxHkx 22 
vkijkfèkd ÑR;ksa dks lwphc¼ fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	75.	^cky fookg izfr"ksèk vfèkfu;e* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa loksZPp U;k;ky; us cky fookg 
izfr"ksèk vfèkfu;e] 2006 dh èkkjk 9 dks 
iquO;kZ[;kf;r fd;k gSA

	 2.	 vfèkfu;e dh èkkjk 11 cky fookg dh vuqefr 
,oa bls izksRlkgu nsus okys ds fy;s l”kk dk 
izkoèkku djrh gSA

	 3.	 ;g vfèkfu;e uoacj 2015 esa ykxw gqvkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	

	 (d)	 1, 2 vkSj 3
	76.	gky gh esa Hkkjrh; iqjkrÙo losZ{k.k dh iqjkys[k 'kk[kk 

us vc rd ds lcls iqjkus laLÑr f'kykys[k dh [kkst 
dh gSA bl f'kykys[k ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g laLÑr f'kykys[k vkaèkz izns'k ds xqaVwj f”kys 
ds psczksyw xk¡o esa [kkstk x;k gSA

	 2.	 bl f'kykys[k ls lIrekr`dk ds ckjs esa tkudkjh 
feyrh gSA

	 3.	 bl f'kykys[k esa ,d eafnj rFkk eaMi ds fuekZ.k 
ds ckjs esa o.kZu fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 1 vkSj 2 

	 (c)	 dsoy 2 vkSj 3 	

	 (d)	 1, 2 vkSj 3

	 74. 	Consider the following statements in the context 
of Scheduled Castes/Tribes (Prevention of 
Atrocities) Act, 1989.

	 1.	 Under this Act, provision of special courts 
has been made for investigation of crimes 
and rehabilitation and relief of victims.

	 2.	 Under this About 22 criminal acts promoting 
discrimination and harassment etc. have 
been listed along with deprived people of 
the S.C/S.T communities from their rights.

 		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	 (b) 	 2 only
	  (c) 	Both 1 and 2	  (d) 	 Neither 1, nor 2

	 75. 	With reference to 'Prohibition of Child Marriage 
Act' consider the following statements:

	 1.	 Recently the Supreme Court has 
reinterpreted Section 9 of the Prohibition of 
Child Marriage Act, 2006.

	 2.	 Section 11 of the Act provides the 
Punishment for the permission of child 
marriage and for those who encourage it.

	 3.	 The Act came into force in November 2015.

		  Which of the statement(s) given above is/are 
correct?

	  (a) 	1 and 2 only	
	 (b) 	3 only
	  (c) 	2 and 3 only	
	  (d) 	1, 2 and 3

	 76. 	Recently the Archive Branch of the Archaeological 
Survey of India has discovered the oldest Sanskrit 
inscription ever. consider the following statements 
in the context of this inscription:

	 1.	 This Sanskrit inscription has been 
discovered at Chebrolu village in Guntur 
district of Andhra Pradesh.

	 2.	 This inscription gives information about 
Saptamatrika.

	 3.	  This inscription describes the construction 
of a temple and a mandapa.

 		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only	
	  (b) 	1 and 2 only
	  (c) 	2 and 3 only	
	  (d) 	1, 2 and 3
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	77.	Hkkjrh; fons'k ea=kky; us 5G vkSj Ñf=ke cqf¼eÙkk tSlh 
ubZ rduhdksa ds dkj.k mRiUu lqj{kk pqukSfr;ksa ls fuiVus 
gsrq ,d u, izHkkx& ^ubZ ,oa mHkjrh lkefjd 
izkS|ksfxfd;k¡* dh LFkkiuk dh ?kks"k.kk dh gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g u;k izHkkx ubZ vkSj mHkjrh izkS|ksfxdh ds 
lanHkZ esa x`g ea=kky; ds uksMy dk;kZy; ds :i 
esa dk;Z djsxkA

	 2.	 bldk mn~ns'; vU; ns'kksa dh ljdkjksa vkSj Hkkjrh; 
ea=kky;ksa rFkk foHkkxksa ds eè; fopkjksa ds 
vknku&iznku dks c<+kok nsuk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2
	78.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa mÙkj izns'k ljdkj us y[kuÅ rFkk uks,Mk 
ds fy;s iqfyl dh dfe'ujh iz.kkyh dks ik;yV 
ifj;kstuk ds :i esa LohÑfr iznku dh gSA

	 2.	 lafoèkku dh 7oha vuqlwph ds varxZr iqfyl jkT; 
lwph dk fo"k; gS vFkkZr~ izR;sd jkT; bl fo"k; ij 
fofèk dk fuekZ.k dj O;oLFkk lqfuf'pr djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	

	 (d)	 u rks 1, u gh 2
	79.	vkWLVªsfy;k esa fiNys dqN fnuksa esa oukfXu dk Hkh"k.k 

Lo:i ns[kk x;kA vkWLVsªfy;k dh HkkSxksfyd fLFkfr ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vkWLVsªfy;k dh HkkSxksfyd fLFkfr m".kdfVcaèkh; 
gS] ftlds dkj.k ;gk¡ lw;kZri dh i;kZIr ek=kk 
o"kZ Hkj feyrh jgrh gSA

	 2.	 xzsV fMokbfMax ioZr Js.kh vkWLVsªfy;k esa o"kkZ 
foHkktd dk dk;Z djrh gSA

	 3.	 vkWLVsªfy;k esa de o"kkZ vkSj ty dh lhfer 
miyCèkrk ds dkj.k bldks I;klh Hkwfe dk ns'k 
dgk tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 1 vkSj 2 

	 (c)	 dsoy 2 vkSj 3 	

	 (d)	 1, 2 vkSj 3

	 77.	 Indian Ministry of External Affairs has announced 
the establishment of a new division - 'New and 
Emerging Strategic Technologies' to deal with the 
security challenges posed by new technologies 
such as 5G and artificial intelligence. Which of 
the following statements is / are correct in this 
context?

	 1.	 This new division will act as the nodal 
office of the Ministry of Home Affairs in the 
context of new and emerging technology.

	 2.	 Its purpose is to promote the exchange 
of ideas between governments of other 
countries and Indian ministries and 
departments.

	 Code:
	 (a) 	1 only	  (b) 	 2 only
	  (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2

	 78. 	Consider the following statements:
	 1.	 Recently Uttar Pradesh government 

approved the commissioning system of 
police as a pilot project for Lucknow and 
Noida.

	 2.	 Under the 7th schedule of the constitution, 
police is a subject of a state list, that is, each 
state ensures the order by creating a law on 
this subject.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	
	 (b) 	2 only
	  (c) 	Both 1 and 2	
	 (d) 	Neither 1 nor 2

	 79. 	Australia is witnessing its most devastating forest 
fire in last few days. With reference to the 
geographical condition of Australia, consider the 
following statements:

	 1.	 The geographical condition of Australia is 
tropical due to which adequate quantity of 
sunset is found throughout the year.

	 2.	 The Great Dividing mountain range serves 
as the rain divider in Australia.

	 3.	 Due to little rainfall and limited availability 
of water in Australia, it is called a country of 
thirsty land.

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1 only	
	  (b) 	1 and 2 only
	 (c) 	2 and 3 only	
	  (d) 	1, 2 and 3
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	80.	fganw fookg vfèkfu;e] 1955 ds rgr fookg foPNsn 
dh izfØ;k crkbZ xbZ gSA bl vfèkfu;e dh èkkjk&13 
ds rgr fookg foPNsn ds vkèkkjksa esa 'kkfey gSa%

	 1.	 O;fHkpkj	 2.	Øwjrk

	 3.	 ifjR;kx	 4.	èkek±rj.k

	 5.	 ekufld fodkj

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3, 4 vkSj 5	 (d)	 1, 2, 3, 4 vkSj 5
	81.	^lkekftd xfr'khyrk lwpdkad* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 fo'o vkfFkZd eap }kjk ladfyr lkekftd 

xfr'khyrk lwpdkad esa Hkkjr dk LFkku 82 ns'kksa 
esa 76ok¡ gSA

	 2.	 bl lwpdkad esa MsuekdZ 'kh"kZ LFkku ij gSA

	 3.	 Hkkjr vkthou KkuktZu ds ekeys esa 41osa vkSj 
dk;Z dh fLFkfr;ksa ds ekeys esa 53osa LFkku ij gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	82.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa tkjh la;qDr jk"Vª dh fjiksVZ ds vuqlkj] 

Hkkjr 2019 esa izR;{k fons'kh fuos'k izkIr djus 
okys 'kh"kZ 10 ns'kksa eas 'kkfey jgkA

	 2.	 Hkkjr us 2019 esa 49 fcfy;u MkWyj dk ,iQMhvkbZ 
vkdf"kZr fd;k] tks fiNys o"kZ dh rqyuk esa 16 
izfr'kr vfèkd gSA

	 	mi;qZDr dFkukas esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	83.	^LVsV~l vkWiQ n oYMZ~l fpYMsªu fjiksVZ& 2019* ds lanHkZ 

esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 fjiksVZ ds vuqlkj 35% Hkkjrh; cPps iks"k.k dh 

deh ds dkj.k LVafVax ls ihfM+r gSaA

	 2.	 Hkkjr esa gj nwljk cPpk fdlh&u&fdlh izdkj 
ds dqiks"k.k ls izHkkfor gSA

	 3.	 fo'o esa ik¡p o"kZ ls de mez ds rhu cPpksa esa 
ls ,d cPpk] vFkkZr~ nqfu;k Hkj esa yxHkx 200 
fefy;u cPps ;k rks vYiiksf"kr gSa ;k vfèkd 
o”ku okys gSaA

		 dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 80. 	Under The Hindu Marriage Act, 1955 the process 
of dissolution of marriage is described. The basis 
for separation of marriage under Section 13 of this 
Act include:

	  1. 	Adultry	  2. 	 Cruelty
	  3. 	Desertion	  4. 	 Proselytize
	  5. 	Unsound mind
	 Code:
	 (a) 	1 and 2 only	 (b) 	 2 and 3 only
	  (c) 	3, 4 and 5 only	  (d) 	 1, 2, 3, 4 and 5

	 81. 	Consider the following statements in the context 
of  'Social Mobility Index':

	 1.	 India ranks 76 out of 82 countries in the 
social mobility index compiled by the world 
Economic Forum.

	 2.	 In this index Denmark in on the top position.
	 3.	 India is ranked 41st in terms of lifelong 

learning and 53rd in terms of working 
conditions.

		  Which of the statement(s) given above is/are correct?
	  (a) 	1, 2 and 3	 (b) 	 1 and 2 only
	  (c) 	2 and 3 only	 (d) 	 3 only

	 82.	 Consider the following statements:
	 1.	 According to the recently released United 

Nations report, India was among the 
top 10 countries receiving foreign direct 
investment in 2019.

	 2.	 India attracted FDI of $ 49 billion in 
2019, which is more than 16 percent in the 
comparision of last year.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	  (d) 	 Neither 1 nor 2

	 83. 	Which of the following statements is/are correct 
in the context of 'States of the World's Children 
Report - 2019'?

	 1. 	According to the report, 35% of Indian 
children suffer from stunting due to 
nutritional deficiency.

	 2. 	Every second child in India is affected by 
malnutrition in some way or the other.

	  3. 	One in three children under the age of five 
in the world, ie, about 200 million children 
worldwide are either undernourished or 
overweight.

	 Code:
	 (a) 	1 only	 (b) 	 1 and 2 only
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3
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	84.	n bdkWukWfeLV baVsfytsal ;wfuV }kjk izdkf'kr uohure 
^yksdra=k lwpdkad* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl fjiksVZ ds vuqlkj] oSf'od jSafdax esa Hkkjr 
10 LFkku dh fxjkoV ds lkFk 51osa LFkku ij 
vk x;k gSA

	 2.	 bl fjiksVZ ds vuqlkj] Hkkjr dk Ldksj 2018 eas 
7.23 ls ?kVdj 2019 esa 6.90 gks x;k gSA

	 3.	 fjiksVZ ds vuqlkj] Hkkjrh; yksdra=k dh fLFkfr esa 
fxjkoV dk izeq[k dkj.k Hkkjr esa ukxfjdksa dh 
Lora=krk esa deh dk gksuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 dsoy 2
	85.	^lrr~ fodkl y{; Hkkjr lwpdkad&2019* ds vuqlkj] 

'kwU; Hkq[kejh ds ekeys esa 'kh"kZ ij jgs jkT;@dsanz'kkflr 
izns'k gSa&

	 (a)	 xksok rFkk paMhx<+	 (b)	 dsjy rFkk iqnqPpsjh
	 (c)	 rsyaxkuk rFkk paMhx<+	 (d)	 dukZVd rFkk y{k}hi
	86.	fo'o vkfFkZd eap }kjk izdkf'kr 2020 ds okf"kZd 

oSf'od ySafxd varjky lwpdkad esa 153 ns'kksa esa Hkkjr 
dk LFkku gS&

	 (a)	 110ok¡	 (b)	 112ok¡
	 (c)	 117ok¡	 (d)	 121ok¡
	87.	^oSf'od vlekurk ij vkWDliSQe dh fjiksVZ&2020* ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl fjiksVZ ds vuqlkj] Hkkjr dh 'kh"kZ 10% tula[;k 

ds ikl dqy jk"Vªh; laifÙk dk 74.3% gSA

	 2.	 Hkkjr ds lcls vehj 1% yksxksa ds ikl fupyh 
70% vkcknh] vFkkZr~ 953 fefy;u yksxksa ls pkj 
xquk vfèkd laifÙk gSA

	 3.	 nqfu;k ds 22 lcls vehj iq#"kksa ds ikl vÚhdk 
dh lHkh efgykvksa dh laifÙk dh rqyuk esa vfèkd 
laifÙk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	88.	fuEufyf[kr esa ls in~e foHkw"k.k iqjLdkj&2020 ls 

lEekfur dh tkus okyh gfLr;ksa esa 'kkfey gSa&
	 1.	 vfu#¼ txUukFk

	 2.	 ckyÑ".k nks'kh

	 3.	 tkWtZ iQuk±fM”k (ej.kksijkar)
	 4.	 v#.k tsVyh (ej.kksijkar)

	 5.	 lq"kek Lojkt (ej.kksijkar)

	 6.	 ih-oh- flaèkw

	 84.	 With reference to the latest published 'democracy 
index' by The Economist Intelligence Unit, 
consider the following statements :

	 1. 	According to this report, India has slipped 
10 places and come on 51st in the global 
rankings.

	 2. 	According to this report, India's score 
became 6.90 in 2019 reducing from 7.23 in 
2018.

	 4.	 According to the report, the main reason 
for the decline in the condition of Indian 
democracy is the lack of freedom of citizens 
in India.

		  Which of the statement(s) given above is / are 
correct?

	  (a) 	1 and 2 only	 (b) 	 1, 2 and 3
	 (c) 	3 only	  (d) 	 2 only
	 85. 	According to the 'Sustainable Development Goals 

India Index - 2019', the top states / UTs in terms 
of zero hunger are:

	 (a) 	Goa and Chandigarh
	 (b) 	Kerala and Puducherry
	  (c) 	Telangana and Chandigarh
	 (d) 	Karnataka and Lakshadweep
	 86.	 In the annual Global Gender Gap Index of 2020 

published by the World Economic Forum the rank 
of India among 153 countries is:

	  (a) 	110th 	 (b) 	 112th 
	 (c) 	117th 	 (d)	 121st
	 87. 	Consider the following statements in the context 

of 'Oxfam's report on Global Inequality - 2020':
	  1. 	According to this report, India's top 10% 

of the population have 74.3% of the total 
national wealth.

	  2. 	The richest 1% people in India have four 
times more wealth than the lower 70% 
population i.e. 953 million people.

	 3. 	The 22 richest men in the world have more 
wealth than the wealth of all women in 
Africa.

	  	Which of the statement(s) given above is/are 
correct?

	  (a) 	1 only	  (b) 	 1 and 2 only
	  (c) 	2 and 3 only	  (d) 	 1, 2 and 3
	 88. 	Among the celebrities to be awarded the Padma 

Vibhushan Award – 2020
	  1. 	Anirudh Jagannath	  
	 2. 	Balakrishna Doshi
	  3. 	George Fernandes (posthumous)
	  4. 	Arun Jaitley (Posthumous)
	 5. 	Sushma Swaraj (posthumous)
	  6. 	P. V. Sindhu
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		 dwV%

	 (a)	 dsoy 1, 3, 4 vkSj 5

	 (b)	 dsoy 2 vkSj 6

	 (c)	 dsoy 1, 2, 3, 4 vkSj 5

	 (d)	 1, 2, 3, 4, 5 vkSj 6
	89.	^izoklh Hkkjrh; fnol* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g fnol Hkkjr ds fodkl esa izoklh Hkkjrh; 
leqnk; ds ;ksxnku dks fpfÉr djus ds fy;s gj 
o"kZ 9 tuojh dks euk;k tkrk gSA

	 2.	 izoklh Hkkjrh; fnol eukus dk fu.kZ; iwoZ 
izèkkuea=kh LoxhZ; vVy fcgkjh oktis;h us fy;k 
FkkA

	 3.	 igyk izoklh Hkkjrh; fnol dk vk;kstu 9 
tuojh] 2008 dks ubZ fnYyh eas gqvk FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	90.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 igyk fo'o fgUnh lEesyu 10 tuojh] 1975 
dks ukxiqj esa vk;ksftr fd;k x;k FkkA

	 2.	 iwoZ izèkkuea=kh MkW- eueksgu flag us o"kZ 2006 esa 
gj lky 10 tuojh dks fo'o fgUnh fnol eukus 
dh ?kks"k.kk dhA

	 3.	 Hkkjr esa 14 uoacj dks jk"Vªh; fgUnh fnol euk;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	91.	^dUuqe iksaxy* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g rfeyukMq ds lyse ftys esa izfro"kZ vk;ksftr 
fd;k tkrk gSA

	 2.	 ;g tYyhdV~Vw dh Hkk¡fr gh gksrk gS] ysfdu blesa 
cSy dh ctk; Hkkjrh; ykseM+h dk iz;ksx fd;k 
tkrk gSA

	 3.	 Hkkjrh; ykseM+h dks oU;tho laj{k.k vfèkfu;e] 
1972 ds rgr ,d lajf{kr iztkfr ?kksf"kr fd;k 
x;k gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 Code:
	  (a) 	1, 3, 4 and 5 only	
	 (b) 	2 and 6 only
	 (c) 	1, 2, 3, 4 and 5 only	  
	 (d)	 1, 2, 3, 4, 5 and 6

	 89. 	Consider the following statements in the context 
of 'Pravasi Bhartiya Divas:'

	  1. 	This day is celebrated every year on 9 
January to mark the contribution of the 
overseas Indian community towards the 
development of India.

	  2. 	The decision to celebrate Pravasi Bhartiya 
Divas was taken by the former Prime 
minister of India, Late Atal Bihari Vajpayee.

	  3. 	The first Pravasi Bhartiya Divas was held 
on 9 January, 2008 in New Delhi.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1,2 and 3

	 90. 	Consider the following statements:
	 1. 	The first World Hindi conference was 

organised on 10 January, 1975 at Nagpur.
	 2. 	In 2006, former Prime Minister, Dr 

Manmohan Singh declared to celebrate 
World Hindi Divas every year, on 10 
January.

	 3. 	In India, the national Hindi Divas is 
celebrated on 14 November.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1,2 and 3

	 91. 	Consider the following statements in the context 
of ‘Kaanum Pongal’?

	 1.	 It is celebrated in Salem district of Tamil 
Nadu every year.

	 2.	 It is like Jallikattu but in this occasion fox is 
used instead of a bull.

	 3.	 According to the Wildlife Protection Act, 
1972, the Indian fox has been declared as 
protected species.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1,2 and 3
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	92.	^edjfoyDdw egksRlo* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g dsjy ds lcjhekyk eafnj esa edj laØkafr 
ij vk;ksftr fd;k tkus okyk ,d okf"kZd 
mRlo gSA

	 2.	 bl mRlo ds nkSjku ̂ izdk'k*] ftls LFkkuh; Hkk"kk 
esa ̂ edjfoyDdw* dgk tkrk gS] lcjhekyk eafnj 
ds ikl fLFkr iksuEcyesMq uked iBkj ij tyk;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2
	93.	^23ok¡ jk"Vªh; ;qok egksRlo 2020* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldk vk;kstu dsanzh; ;qok dk;ZØe vkSj [ksy 

ea=kky; ,oa mÙkj izns'k ljdkj us la;qDr :i ls 
y[kuÅ esa fd;kA

	 2.	 dsanz ljdkj o"kZ 1995 ls jk"Vªh; ;qok egksRlo 
dk vk;kstu dj jgh gSA

	 3.	 bl ckj jk"Vªh; ;qok egksRlo dh Fkhe ̂ fiQV ;wFk 
fiQV bafM;k* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 1 vkSj 3
	94.	^}hi fodkl ,tsalh* ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 gky gh esa }hi fodkl ,tsalh dh NBh cSBd 

dk vk;kstu y{k}hi esa fd;k x;kA

	 2.	 dsanz ljdkj us Hkkjrh; }hiksa ds fodkl ds fy;s 
1 twu] 2017 dks }hi fodkl ,tsalh dk xBu 
fd;k FkkA

	 3.	 bldh vè;{krk dsanzh; x`g ea=kh }kjk dh 	
tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1, 2 vkSj 3
	95.	gky esa pfpZr ^ds9 otz&Vh* gS&

	 (a)	 pk; dh ,d uohu mUur fdLe

	 (b)	 ,d Lopkfyr gksfoR”kj VSad

	 (c)	 ,d daI;wVj ok;jl

	 (d)	 èkku dh ,d fdLe

	 92. 	Consider the following statements in the context 
of 'Makarvilakku festival':

	 1. 	It is an annual festival organised at 
Sabrimala temple in Kerala on the occasion 
of Makarsankranti.

	 2.	 On this occasion the ‘holy light’ which is 
called ‘makarvilakku’ in local language, is 
lighted on the plateu of Ponnambalamedu 
near Sabrimala temple.

		  Which of the statement(s) given above is/ are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 93. 	Consider the following statements in the context 
of ‘23rd National Youth festival 2020’:

	 1.	 It was organised by the joint efforts of 
Ministry of Youth Affairs and Sports and 
State government of Uttar Pradesh.

	 2.	 The Union government has been organising 
the National Youth festival since 1995.

	 3.	 This year the theme for the National Youth 
festival is ‘Fit Youth Fit India’.

		  Which of the statement(s) given above is/ are 
correct?

	 (a)	 1,2 and 3	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1 and 3 only

	 94. 	Consider the following statements in the context 
of 'Island Development Agency':

	  1. 	The sixth Summit of the Island Development 
Agency was organised in Lakshadweep, 
recently.

	 2. 	The union government established the 
Island Development Agency on 1 June, 
2017 for the development of the Indian 
islands.

	 3.	 It is headed by the union home minister.

		  Which of the statement(s) given above is/ are not 
correct?

	 (a)	 1 only	
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	
	 (d)	 1,2 and 3

	 95. 	Recently in news ‘K9 Vajra – T’ is –
	 (a)	 A new upgraded variety of tea.
	 (b)	  A Self-propelled howitzer tank.
	 (c)	 A computer virus
	 (d)	 A type of grain
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	96.	^u`R; dyk fufèk iqjLdkj* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 enzkl laxhr vdkneh esa 14osa u`R; egksRlo ds 
nkSjku izfl¼ HkjrukV~;e ùR;kaxuk fiz;n'kZuh xksfoan 
dks u`R; dykfufèk iqjLdkj ls lEekfur fd;k 
x;kA

	 2.	 Hkjreqfu ds ukV~;'kkL=k ls tUeh HkjrukV~;e u`R; 
'kSyh dk fodkl rfeyukMq esa gqvkA

	 3.	 HkjrukV~;e u`R; ds dfork ikB djus okys O;fDr 
dks ^uV~Vqoukj* dgrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 3
	97.	^egknsbZ oU;tho vHk;kj.;* fuEufyf[kr esa ls fdl 

jkT; esa fLFkr gS\

	 (a)	 jktLFkku	 (b)	 xksok

	 (c)	 flfDde	 (d)	 fcgkj
	98.	^?kkVizHkk unh* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g dukZVd esa izokfgr Ñ".kk unh dh lgk;d 
unh gSA

	 2.	 ?kkVizHkk unh ij fgMdy ifj;kstuk dk fuekZZ.k 
fd;k x;k gSA

	 3.	 fgMdy ifj;kstuk vkaèkz izns'k ds csyxkoh f”kys 
esa fLFkr gSA

		 dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2
	99.	^107oha Hkkjrh; foKku dkWUxzsl* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 3 tuojh] 2020 dks Ñf"k foKku fo'ofo|ky; 
caxyw: esa ^107oha* Hkkjrh; foKku dkWUxzsl dh 
'kq#vkr gqbZA

	 2.	 bl vk;kstu dh Fkhe ^foKku ,oa izkS|ksfxdh% 
xzkeh.k fodkl* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2
	100.	^6&10 tuojh] 2020 rd 5osa ,f'k;k iz'kkar ̂ MªkWlksfiQyk* 

vuqlaèkku lEesyu dk vk;kstu fuEufyf[kr esa ls fdl 
Hkkjrh; 'kgj esa fd;k x;k\

	 (a)	 iq.ks	 (b)	 eqacbZ

	 (c)	 ubZ fnYyh	 (d)	 dksydkrk

	 96. 	Consider the following statements in the context 
‘Nritya Kala Nidhi Award’:

	 1.	 The famous Bharatnatyam dancer Priyadarshani 
Govind was awarded with Nritya Kala Nidhi 
Award during the 14th Nritya Mahotsav in the 
Madras Sangeet Academy.

	 2.	 Bharatnatyam dance style originated from 
the Natyashastra of Bharatmuni, developed 
in Tamil Nadu.

	 3.		 The one who narrates the poem of 
Bharatnatyam is called ‘nattuvanar’.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1,2 and 3
	 (c)	 1 and 2 only	 (d)	 3 only

	 97. 	Mahadei Wildlife Sanctuary is located in which of 
the following state?

	 (a) 	Rajasthan	 (b) 	 Goa
	 (c) 	Sikkim 	 (d)	 Bihar

	 98. 	Which of the following statement(s) is/ are correct 
in the context of ‘Ghataprabha River’?

	 1. 	It is a tributary of the Krishna river that 
flows in Karnataka. 

	 2. 	Hidkal Project has been constructed on the 
Ghataprabha river. 

	 3. 	Hidkal Project is located on the Belgavi 
district of Andhara Pradesh. 

		  Code:
	 (a)	 1 and 2 only 	 (b)	 3 only
	 (b)	 1,2 and 3 	 (d) 	 2  only

	 99. 	Consider the following statements in the context 
of ‘107th Indian Science Congress’:

	 1. 	The 107th Indian Science Congress was 
started at the University of Agricultural 
Sciences in Bengaluru on 3rd January 2020. 

	 2. 	The theme of the session is ‘Science and 
Technology: Rural Development’.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	  (b)	 2 only
	 (c)	 Both 1 and 2 	 (d) 	 Neither 1, nor 2 

	100. 	The 5th Asia Pacific ‘Drosophila’ Research 
Conference was held in which of the following 
state of India from 6 - 10 January, 2020? 

	 (a) 	Pune	 (b) 	 Mumbai
	 (c) 	New Delhi	 (c)	 Kolkata


